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B.Com. (CS) DEGREE EXAMINATION,  
NOVEMBER 2023. 

Second Semester 

Corporate Secretaryship 

MANAGERIAL ECONOMICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define managerial economics. 

 ÷©»õsø© ö£õ¸Î¯À  Gß£øu Áøμ¯Ö. 

2. What is disposable income? 

 ö\»ÁÈUuUP Á¸Áõ´ GßÓõÀ GßÚ? 

3. What is the meaning of utility? 

 £¯ß£õk Gß£uß ö£õ¸Ò GßÚ? 

4. Define law of demand. 

 ÷uøÁ Âvø¯ Áøμ¯Ö. 

5. What are the three types of demand? 

 ‰ßÖ ÁøP¯õÚ ÷uøÁ ÂvPÒ ¯õøÁ? 

6. State any two factors affecting supply. 

 £QºÂøÚ £õvUS® Cμsk PõμoPøÍ TÖ. 
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7. What is marginal cost? 

 ÂÍ®¦ EØ£zv ö\»Ä GßÓõÀ GßÚ? 

8. What is market? 

 \¢øu GßÓõÀ GßÚ? 

9. Define pure competition. 

 y¯ \¢øu¨ ÷£õmi°øÚ Áøμ¯Ö. 

10. Define marginal revenue. 

 ÂÎ®¦ Á¸©õÚzøu Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b) 

11. (a) Why does demand curve slope down wards? 

  ÷uøÁU ÷Põk Hß Chª¸¢x Á»©õP \›QÓx? 

Or 

 (b) Explain various importance of elasticity of demand. 

  ÷uøÁ ö|QÌa]°ß £À÷ÁÖ •UQ¯zxÁ[PøÍ 
ÂÍUSP. 

12. (a) Explain law of diminishing marginal utility. 

  SøÓ¢x ö\À ÂÎ®¦ £¯ß£õmk ÂvPøÍ ÂÁ›. 

Or 

 (b) Explain the various determinant of supply. 

  £QºÄPøÍ wº©õÛUS® £À÷ÁÖ PõμoPøÍ TÖ. 

13. (a) State the various properties of indifference curves. 

  \© ÷|õUS Áøμ£hzvÀ £À÷ÁÖ £s¦PøÍ TÖ. 

Or 
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 (b) What are the features of perfect competition? 

  \›¯õÚ \¢øu¨ ÷£õmi°ß ]Ó¨¤¯À¦PøÍ ¯õøÁ? 

14. (a) Write a note on constant elasticity of substitution 
(C.E.S). 

  ©õÓõu ©õØÖ ö|PÌa] (C.E.S). £ØÔ SÔ¨ö£ÊxP. 

Or 

 (b) Write a note on   

  (i) Marginal utility  

  (ii) Total utility. 

   

  (A) ÂÎ®¦ £¯ß£õk 

  (B) ö©õzu £¯ß£õk BQ¯ÁØøÓ £ØÔ SÔ¨¦ 
ÁøμP. 

15.  (a) Explain conjectural variation. 

  PØ£øÚ ©õÖ£õmøh ÂÁ›. 

Or 

 (b) Specify the objectives of demand forecasting. 

  ÷uøÁ •ßPo¨¤ß ÷|õUP[PøÍ SÔ¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the nature and scope of managerial economics. 

 ÷©»õsø© ö£õ¸Î¯¼ß C¯À¦ ©ØÖ® Âaö\Àø»¯ 
ÂÁ›UP. 

17. Discuss the relation between demand and supply. 

 ÷uøÁUS® ©ØÖ® £QºÄUS® Cøh÷¯ EÒÍ öuõhºø£ 
ÂÁ›. 
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18. Calculators are sold to students for 20 dollors each. Three 
hundred students are willing to buy them at that price. 
For every 5 dollor increase in price there are 30 fewer 
students willing to buy the calculators. What will the 
maximum revenue be? 

 ©õnÁºPÐUS PnUQk® ö£õÔPÒ JÆöÁõßÖ® 20 
hõ»¸US ÂØP¨£kQ¯x. 300 ©õnÁºPÒ C¢u Âø»US 
Áõ[P Â¸®£¨£kQßÓÚº. Âø» 5 hõ»º E¯¸® ÷£õx 
30 ©õnÁºPÒ SøÓÁõP PnUQk® ö£õÔPÒ Áõ[P 
Â¸®¤ÚõÀ ÂÍ®¦ Á¸Áõ´ GßÚ? 

19. Explain the various differences between pure and perfect 
competitions. 

 y¯ ©ØÖ® \›¯õÚ \¢øu¨÷£õmiPÐUQøh÷¯ EÒÍ 
öÁÆ÷ÁÖ ÷ÁÖ£õkPøÍ ÂÍUSP. 

20. What is the difference between average and marginal 
productivity? Write a note on homogeneous production 
function. 

 \μõ\› EØ£zv vÓÝUS® ÂÎ®¦ EØ£zv vÓÝUS® 
Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? K÷μ ^μõÚ EØ£zv \õº¦ 
£ØÔ SÔ¨¦ GÊxP. 

———————— 
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FINANCIAL ACCOUNTING – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Single Entry System of Book keeping? 
 JØøÓ £vÂ°¯À •øÓ GßÓõÀ GßÚ? 

2. State two features of single entry system. 
 JØøÓ £vÂ°¯À •øÓ°À H÷uÝ® Cμsk A®\[PøÍ 

TÖP. 

3. What are domestic branches? 
 EÒ|õmk QøÍPÒ GßÓõÀ GßÚ? 

4. What is Independent Branches? 
 _u¢vμU QøÍPÒ GßÓõÀ GßÚ? 

5. What is insolvency account? 
 ö|õi¨¦ {ø» PnUS GßÓõÀ GßÚ? 

6. What is need for insolvency accounting? 
 ö|õi¨¦ {ø» PnUQß ÷uøÁ GßÚ? 

7. Define Royalty. 
 SzuøP Áøμ¯Ö. 

8. Write short notes on: Minimum Rent. 

 ]Ö SÔ¨¦ ÁøμP: SøÓ¢u ÁõhøP. 

Sub. Code 
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9. What do you mean by hire - purchase system? 
 ÁõhøP öPõÒ•uÀ •øÓ Gß£uß }Âº TÖ® ö£õ¸Ò 

GßÚ? 

10. What is instalment purchase? 
 uÁøn öPõÒ•uÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 
Answer all questions, choosing either (a) or (b). 

11. (a) From the following information calculate the total 
purchases: 

 Rs.

Opening balance of Bills Payable 15,000

Opening balance of creditors 18,000

Closing balance of Bills Payable 21,000

Closing balance of creditors 12,000

Cash paid to creditors during the year  90,600

Bills Payable discharged during the year 26,700

Purchases Returns  3,600

Cash Purchases  77,400
  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö©õzu öPõÒ•uÀPøÍU 

PnUQkP. 

  ¹.

ö\¾zxÁuØS›¯ ©õØÖ^miß öuõhUP 
C¸¨¦ 

15,000

PhÜ¢÷uõº öuõhUP C¸¨¦ 18,000
ö\¾zxÁuØS›¯ ©õØÖ^miß CÖv C¸¨¦ 21,000
PhÜ¢÷uõº CÖv C¸¨¦ 12,000
PhÜ¢÷uõ¸US |h¨£õsiÀ ö\¾zu¨£mh 
£n® 

90,600

ö\¾zxÁuØS›¯ ©õØÖ^miß Á¸hzvÀ 
\›ö\´¯¨£mhÚ 

26,700

öPõÒ•uÀ v¸¨£® 3,600
öμõUP öPõÒ•uÀ 77,400

Or 



F–0216 

  

  3

 (b) From the following information, calculate the total 
sales: 

  Rs.

Bills Receivable in the beginning  1,560

Debtors in the beginning  6,160

Bills Receivable en cashed during the year  4,180

Cash received from Debtors  14,000

Bad Debts written off 560 Sales Returns  1,740

Bills Receivable (Dishonored)  360

Bills Receivable at the end  1,200

Debtors at the end  5,100

Cash Sales  8,180
  ¤ßÁ¸® uPÁÀPÎ¼¸¢x, ö©õzu ÂØ£øÚø¯ 

PnUQkP.   
  ¹. 
ö£ÖuØS›¯ ©õØÖ^mk öuõhUPzvÀ  1,560 
öuõhUPzvÀ PhÚõÎPÒ  6,160 
|h¨£õsiÀ ö£ÖuØS›¯ ©õØÖ^mk  4,180 
PhÚõÎPÎhª¸¢x ö£Ó¨£mh £n®  14,000 
560 ÂØ£øÚø¯ uÒÐ£i ö\´u ÁõμU 
PhßPÒ 

 1,740 

ö£ÖuØS›¯ ©õØÖ^mk (AÁ©vUP¨£mhx)  360 
•iÂÀ ö£ÖuØS›¯ ©õØÖ^mk  1,200 
CÖv°À PhÚõÎPÒ  5,100 
öμõUP ÂØ£øÚ  8,180 

12. (a) Mention the objectives of Departmental accounts. 
  xøÓÁõ› PnUSPÎß ÷|õUP[PøÍ SÔ¨¤kP. 

Or 
 (b) State the advantages and disadvantages of 

Departmental accounts. 
  xøÓÁõ› PnUSPÎß |ßø©PÒ ©ØÖ® wø©PÒ 

TÖP. 
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13. (a) What are Preferential Creditors in the following 
liabilities of an insolvent, Gopal, according to the 
Presidency Towns Insolvency Act and Provincial 
Insolvency Act? Also point out the unsecured 
creditors. 

  ©õ|Pμ[PÎÀ ö|õi¨¦ \mh® ©ØÖ® ©õPõn vÁõÀ 
\mhzvß £i ÷Põ£õÀ, J¸ vÁõ»õÚÁ›ß ¤ßÁ¸® 
ö£õÖ¨¦PÎÀ •ßÝ›ø© Phß ÁÇ[S£ÁºPÒ 
¯õº?  £õxPõ¨£ØÓ PhÚõÎPøÍ²® _miUPõmhÄ®. 

Or 

 (b) On 1st January 2002 chittaranjan collieries Ltd. 
leased a piece of land agreeing to pay therefore a 
minimum rent of Rs 2,000 in the first year Rs 4.000 
in the second year and thereafter Rs 6,000 per 
annum merging into a royarly of 40 paise per tonne 
with power to recoup short workings over the first 
three years only, the output for four years starting 
from 2002-Dec 31. were as follows. 2002-1,000: 
2003-10,000: 2004-18,000: 2005-20,000 tonne.  
Prepare royalty account. 

  áÚÁ› 1,2002 AßÖ, ]zuμg\ß ÷Põ¼¯Ÿì 
¼ªmöhm J¸ {»zøu SzuøPUS Gkzux, GÚ÷Á 
•uÀ Á¸hzvÀ SøÓ¢u£m\ ÁõhøP 2000 ¹. 
Cμshõ® BsiÀ ¹. 4,000, Auß¤ÓS BskUS 
¹. 6000 J¸ hßÝUS 40 ø£\õÄhß Cøn¢ux 
•uÀ ‰ßÖ BskPÎÀ ©mk÷© «Ò£vÄ 
÷Áø»PÒ, 2002&i\®£º 31 •uÀ |õßS 
BskPÐUS öÁÎ±k ¤ßÁ¸©õÖ.  2002&1,000 ; 
2003-10,000 ; 2004-18,000 ; 2005-20,000 hß.  
SzuøP PnUøP u¯õº ö\´P. 

14. (a) Sri Krishna company took a coal mine on 1-1-2002 
on lease from Rukmini for a period of 20 years. The 
company agreed to pay Rs 2 per ton with a 
minimum rent of Rs 50,000. The short workings can 
be recouped under the agreement during the first 
five years but on the conditions that only 50% of 
Royalty in excess of minimum rent can be used for 
the recoupment of short workings. The output of 
coal for the first five years was 18,000. 24,000. 
30,000, 40,000 and 48,000 tonnes respectively. 
Prepare necessary accounts in the books of  
sri Krisha company. 
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  ÿ Q¸ènõ {ÖÁÚ® 1&1&2002 AßÖ {»UP› 
_μ[Pzøu ¸U©o°h® C¸¢x 20 Á¸h Põ»zvØS 
SzuøPUS Gkzux.  {ÖÁÚ® SøÓ¢u£m\® 
¹.50,000 ÁõhøP²hß hß JßÖUS ¹.2 ö\¾zu 
J¨¦UöPõshx •uÀ I¢x BskPÎÀ J¨£¢uzvß 
RÌ SÖQ¯ ÷Áø»PøÍ v¸®£¨ ö£Ó •i²® 
BÚõÀ SøÓ¢u ÁõhøPUS ÷©À 50% SzuøPø¯ 
©mk÷© SÖQ¯ ÷Áø»PøÍ v¸®£¨ ö£Ó 
£¯ß£kzu»õ®.  •uÀ I¢x BskPÐUS 
{»UP›°ß EØ£zv •øÓ÷¯ 18,000, 24,000, 
30,000, 40,000 ©ØÖ® 48,000 hß BS®.  ÿ 
Q¸ènõ {ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
PnUSPøÍz u¯õ›UPÄ®. 

Or 

 (b) Mr. Prabhakar who wrote a text book in physics 
gave the right of publishing the book to Sultan 
Chand & Sons. The royalty Rs.2 per every book sold. 
Minimum Rent is Rs.1,50,000/- per annum. Short 
workings, if any can be recouped with in the first 
five years of the lease. The sales were as follows: 

Year Sales 

1 10,000 

2 48,000 

3 80,000 

4 1,20,000 

5 1,20,000 

  Write up the necessary journal entries in the books 
of Mr. Prabhakar. 

  C¯Ø¤¯¼À Eøμ ¦zuP® GÊv¯ v¸.¤μ£õPº 
_Àuõß \¢z & \ßì ¦zuPzøu öÁÎ°k® 
E›ø©ø¯ ÁÇ[QÚõº.  ÂØP¨£k® JÆöÁõ¸ 
¦zuPzvØS® SzuøP ¹.2 SøÓ¢u£m\ ÁõhøP 
BskUS ¹.1,50,000/&BS®.  SÖQ¯ ÷Áø»PÒ, 
SzuøP°ß •uÀ I¢x BskPÎÀ HuõÁx 
v¸®£¨ ö£Ó •i²® GßÓõÀ ÂØ£øÚ ¤ßÁ¸©õÖ: 
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Bsk ÂØ£øÚ

1 10,000 

2 48,000 

3 80,000 

4 1,20,000 

5 1,20,000 

  v¸.¤μ£õP›ß ¦zuP[PÎÀ ÷uøÁ¯õÚ SÔ¨÷£mk 
£vÄPøÍ GÊxP. 

15. (a) On 1st January 2,000 vindhya purchased a machine 
from Nivedita on Hire-purchase basis. The 
particulars are as follows; Cash price is Rs 50,000 
payable as follows on signing the agreement  
Rs 20,000 and balance in three installments of  
Rs 10,000 each plus interest. Interest is charged at 
5% on outstanding balance Depreciation at 10% p.a 
on written down value method. Prepare Nivedita 
Account in the books of vindhya. 

  1 áÚÁ› 2000 AßÖ Â¢v¯õ {÷ÁvuõÂh® 
ÁõhøPUS Áõ[S® C¯¢vμzøu Áõ[QÚõº.  
ÂÁμ[PÒ ¤ßÁ¸©õÖ; J¨£¢uzvÀ 
øPö¯õ¨£ªmhÄhß öμõUP Âø» ¹.50,000 
ö\¾zu¨£h ÷Ásk® ©ØÖ® ¹.20,000 ©ØÖ® 
‰ßÖ uÁønPÎÀ ¹.10,000 Ámi ÷\ºzx 
GÊu¨£mh ©v¨¦ •øÓUS BskUS 10% {¾øÁz 
÷u´©õÚzvØS 5% Ámi Á`¼UP¨£kQÓx.  
Â¢v¯õÂß ¦zuP[PÎÀ {÷Ávuõ PnUøPz 
u¯õ›UPÄ®. 

Or 

 (b) On 1st January 2000 Akhil took delivery from Nikhil 
co Ltd of a machine on hire purchase system.  
Rs 6,000 being paid on delivery and the balance in 
five instalments of Rs 12,000 each payable annually 
on 31st December. The cash price of the machine 
was Rs 60,000. Calculate the amount of interest of 
each year 
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  2000 áÚÁ› 1 B® ÷uv AQÀ ÁõhøP öPõÒ•uÀ 
•øÓ°ß {QÀ ÷Põ ¼ªöhmiÀ C¸¢x öh¼Á› 
Gkzuõº.  öh¼Á›US ¹.6000 ö\¾zu¨£kQÓx 
©ØÖ® «u•ÒÍ öuõøPø¯ I¢x uÁønPÎÀ 
¹.12,000 JÆöÁõ¸ Bsk® i\®£º 31–® ÷uv 
ö\¾zu ÷Ásk®.  C¯¢vμzvß öμõUP Âø» 
¹.60,000.  JÆöÁõ¸ Á¸h Ámiz öuõøPø¯²® 
PnUQkP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Arvind does not keep proper records of his business, he 
gives you the Following information 

 Rs. 

Opening Capital 2,00,000 

Closing Capital 2,50,000 

Drawings during the year 60,000 

Capital added during the year 75,000 

 Calculate profit or loss for the year 

 AμÂ¢z uÚx ÁoPzvß \›¯õÚ £vÄPøÍ 
øÁzv¸UPÂÀø», AÁº E[PÐUS ¤ßÁ¸® uPÁÀPøÍ 
AÎUQÓõº;   

 ¹. 

öuõhUP •uÀ 2,00,000 

CÖv •uÀ 2,50,000 

C¢u Á¸hzvØPõÚ Gk¨¦ 60,000 

C¢u BsiØPõÚ TkuÀ •uÀ 75,000 

 C¢u BsiØPõÚ C»õ£ |mhzøu PnUQkP. 
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17. Rama Departmental stores has two departments-
provisions and Fancy mart, From the following, prepare 
departmental Trading account. 

 Purchase: 

 Provisions Department - 1,000 units at a total cost of 

 Cosmetics Department - 2,000 units Rs. 1,10,000 

 Opening stock: 

 Provisions Department - 400 units 

 Cosmetics Department - 600 units 

 Sales: 

 Provisions Department - 900 units @ Rs.75 per unit 

 Cosmetic Department - 2,100 units @ Rs.45 per unit 

 Assume that Gross profit rate is uniform for both the 
departments. 

μõ© i£õºmö©ßhÀ ì÷hõºPÎÀ Cμsk xøÓPÒ 
EÒÍÚ.  HØ£õkPÒ ©ØÖ® Bh®£μ©õÚ ©õºm.  
¤ßÁ¸ÁÚÁØÔ¼¸¢x xøÓ \õº¢u ÁºzuPU PnUøPz 
u¯õ›UPÄ®. 

öPõÒ•uÀ: 

ÁÇ[PÀ xøÓ – ö©õzu ö\»ÂÀ 1,000 A»SPÒ 

J¨£øÚz xøÓ – 2,000 A»SPÒ ¹.1,10,000 

öuõhUP \μUQ¸¨¦: 

ÁÇ[PÀ xøÓ – 400 A»SPÒ 

J¨£øÚz xøÓ – 600 A»SPÒ 

ÂØ£øÚ: 

ÁÇ[PÀ xøÓ – 900 ³ÛmPÒ @ J¸ ³ÛmkUS ¹.75 

J¨£øÚ xøÓ – 2,100 A»SPÒ @ J¸ ³ÛmkUS ¹.45 

ö©õzu C»õ£ ÂQu® Cμsk xøÓPÐUS® J÷μ 
©õv›¯õP C¸UQÓx GßÖ øÁzxUöPõÒÐ[PÒ. 
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18. From the following particulars, prepare the statement of 
Affairs and deficiency account of Ramesh of Allahabad 
who is an insolvent Debtor: 

 Unsecured Creditors, – Rs.15,050 Creditors partly 
secured Rs.19,080 (Holding security of the value of 
Rs.18,100 which is estimated to realise only Rs. 600), 
Preferential creditors – Rs.500, Bills Receivable 
discounted Rs.2,060 (upon which it is estimated that 
there will be liability of Rs.280); Stock in trade–Rs.10,010 
(estimated to realise Rs.8,000).Book debts: Good – 
Rs.7,860. Doubtful and Bad Rs.650 (estimated to realise 
Rs.178), Land and Buildings Rs.8,000 (estimated to 
realise Rs.5,000). Machinery and Plant– Rs.12,500 
(estimated to realise -Rs. 5,500), cash in hand Rs.2. 

 He started business five years ago with a capital of 
Rs.25,000. The trading, after charging interest on capital 
at Rs.1,000 per year resulted in a profit of Rs.602 for the 
first year and losses of Rs.370, Rs.450, Rs.500 and Rs.700 
for the subsequent years. His drawings were at the rate 
of Rs.900 a year and there was a speculation loss of 
Rs.1,590 during the whole period of five years. 

 RÌUPsh ÂÁμ[PÎ¼¸¢x A»Põ£õzøua ÷\º¢u 
μ÷©æß ÂÁPõμ[PÎß AÔUøP ©ØÖ® £ØÓõUSøÓU 
PnUøPz u¯õ›UPÄ®.  AÁº ö|õi¨¦ {ø»°À 
C¸UQÓõº. 

 £õxPõ¨£ØÓ PhÜ¢÷uõº, ¹.15,050 ; £Sv £õxPõUP¨£mh 
PhÜ¢÷uõº, ¹.19,080 (¹.18,100 ©v¨¦ÒÍ £õxPõ¨ø£ 
øÁzv¸¨£x ¹.600 ©mk÷© GßÖ ©v¨¤h¨£mkÒÍx).  
•ßÝ›ø© PhÜ¢÷uõº, ¹.500 ; ö£ÖuØS›¯ ©õØÖa^mk 
uÒÐ£i ¹.2,060 (Auß «x ¹.280 ö£õÖ¨¦ C¸US® 
GßÖ ©v¨¤h¨£mkÒÍx) ; \μUQ¸¨¦, ¹.10,010 
(¹.8,000 ©v¨¤h¨£mkÒÍx) ; ¦zuP PhßPÒ : |À» 
¹.7,860 ; I¯UPhß ©ØÖ® ÁμõUPhß ¹. 650 (¹.178 GÚ 
©v¨¤h¨£mkÒÍx) ; {»® ©ØÖ® Pmih[PÒ, ¹.8,000 
(¹.5,000 I ©v¨¤kÁuõP ©v¨¤h¨£mkÒÍx) ; 
C¯¢vμ[PÒ ©ØÖ® Bø» ¹.12,500 (¹.5,500 
©v¨¤h¨£mkÒÍx) øP°À £n®, ¹.2. 

 AÁº I¢x BskPÐUS •ß¦ 25,000 ¹£õ´ 
‰»uÚzvÀ öuõÈÀ öuõh[QÚõº.  BskUS ¹.1000 
‰»uÚzvß «uõÚ Ámiø¯ Á`¼zu ¤ÓS, •uÀ Bsk 
»õ£® ¹.602 ©ØÖ® Akzukzu BskPÎÀ ¹.370, 
¹.450, ¹.500 ©ØÖ® ¹.700 CÇ¨¦ HØ£mhx.  AÁº 
Gk¨¦ BskUS ¹.900 Ãu® I¢uõskPÒ •ÊÁx® 
¹.1590 FP CÇ¨¦ HØ£mhx.  
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19. ABC Collieries Co. Ltd. took from M/s XYZ a lease of coal 
field for a period of 25 years from 1st April. 2010 on a 
royalty of Rs. 25 per tonne of coal extracted with a Dead 
Rent of Rs. 2,20,000 a year with power to recoup short - 
workings during the first five years of the lease. The 
company closes its books of account on 31st March every 
year. 

 The output in the first five years of the lease was as 
follows: 

 Year ended 31st  March, 2011 2,000 tonnes 

 Year ended 31st March, 2012 3,600 tonnes 

 Year ended 31st March, 2013 9,000 tonnes 

 Year ended 31st March, 2014 15,000 tonnes 

 Year ended 31st March, 2015 20,000 tonnes 

 You are required to give journal entries for all the 
transactions relating to royalties for the five years in the 
books of ABC Collieries Co.Ltd. 

 H¤] ÷Põ¼¯Ÿì ÷Põ ¼ªöhm M/s XYZ C¼¸¢x {»UP› 
Á¯ø» J¸ SzuøPUS Gkzux, H¨μÀ 1,2010 •uÀ 25 
BskPÐUS J¸ SzuøP hß {»UP›US J¸ 
Á¸hzvØS ¹.2,20,000 CÖv ÁõhøP²hß GkUP¨£mhx 
SzuøP°ß •uÀ I¢x BskPÎÀ SÖQ¯ ÷Áø»PøÍ 
v¸®£¨ ö£Ö® \Uv öPõshx.  {ÖÁÚ® JÆöÁõ¸ 
Bsk® ©õºa 31 AßÖ PnUS ¦zuP[PøÍ CÖva 
ö\´QÓx. 

 SzuøP°ß •uÀ I¢x BskPÎÀ öÁÎ±k 
¤ßÁ¸©õÖ: 

 ©õºa 31,2011 •iÁøh¢u Bsk 2,000 hß 

 ©õºa 31,2012 •iÁøh¢u Bsk 3,600 hß 

 31 ©õºa 2013 •iÁøh¢u Bsk 9,000 hß 

 ©õºa 31, 2014 •iÁøh¢u Bsk 15,000 hß 

 ©õºa 31, 2015 •iÁøh¢u Bsk 20,000 hß 

 H¤] Põ¼¯ºì ÷Põ ¼ªöhm ¦zuP[PÎÀ I¢x 
Á¸hzvØPõÚ SzuøP öuõhº£õÚ AøÚzx 
£›ÁºzuøÚPÐUS® SÔ¨÷£mk £vÄPÒ uμ÷Ásk®.  
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20. Little Masters purchase a machinery on instalment basis 
from Machine Manufacturing Co Ltd on the following 
terms 

 (a) Cash down payment at the time of signing 
agreement Rs. 24,000 

 (b) Five annual installments of Rs.15,400 

 (c) Interest at 10% pa, is charged by the seller. 

 (d) Depreciation at 20% pa. on W.D.V basis is written 
off on machinery. 

 (e) Machinery is sold for Rs. 30,000 on completion of 
payments of installments 

 show the machinery account for the entire period 

 ¼miÀ ©õìhºPÒ ¤ßÁ¸® {£¢uøÚPÎß RÌ C¯¢vμ 
EØ£zv {ÖÁÚzvÀ C¸¢x uÁøn •øÓ°À 
C¯¢vμ[PøÍ Áõ[SQßÓÚº. 

 (A) J¸ J¨£¢uzvÀ øPö¯Êzvk® ÷£õx öμõUP¨ 
£n® ¹.24,000 

 (B) I¢x Bsk uÁønPÒ ¹. 15,400 

 (C) BskUS 10% Ámi ÂØ£øÚ¯õÍμõÀ 
Á`¼UP¨£kQÓx. 

 (D) W.D.V Ai¨£øh°À BskUS 20% ÷u´©õÚ® 
C¯¢vμ[PÎÀ «x ÷£õUöPÊxP. 

 (E) C¯¢vμ[PÒ uÁønPøÍ ö\¾zv¯Ähß 
¹.30,000US ÂØP¨£kQßÓÚ. 

 •Ê Põ»zvØS® C¯¢vμU PnUøPU Põmk. 

  
———————— 
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B.Com. (CS) DEGREE EXAMINATION,  
NOVEMBER 2023. 

Third Semester 

Corporate Secretaryship 

COMPANY LAW AND SECRETARIAL PRACTICE – I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Memorandum of Association. 

 Aø©¨¦ \õ\Ú® Áøμ¯Ö. 

2. What is perpectual succession? 

 {ÖÁÚzvß }izu ÁõÌÄ SÔzu P¸zxPøÍ GÊxP? 

3. What is prospectus? 

 uPÁÀ AÔUøP GßÓõÀ GßÚ? 

4. What is statement in lieu of prospectus? 

 uPÁÀ AÔUøPUS ©õØÖ AÔUøP SÔzx ]Ö SÔ¨¦ 
ÁøμP? 

5. What is equity capital? 

 \õuõμn ‰»uÚ® GßÓõÀ GßÚ? 

6. What is public deposits? 

 ö£õxz uÁøn øÁ¨¦PÒ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define Debenture. 

 Phß £zvμ® C»UPn® u¸P. 

8. What is debenture trust deed? 

 Phß £zvμ¨ ö£õÖ¨¦›ø© BÁn® GßÓõÀ GßÚ? 

9. Who is secretary? 

 ö\¯»õÍº ¯õº? 

10. Define Meeting. 

 Tmhzøu Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b) 

11. (a) What are the rules contained in articles of 
association? 

  {ÖÁÚzvß ö\¯À•øÓ ÂvPÎÀ TÓ¨£h 
÷Ási¯ ÂÁμ[PøÍ GÊxP. 

Or 

 (b) Differentiate public company and private company. 

  ö£õx {ÖÁÚ® ©ØÖ® uÛ¯õº {ÖÁÚ® ÷ÁÖ£õk 
u¸P. 

12. (a) Write out the conditions for issuing prospectus. 

  uPÁÀ AÔUøP öÁÎ°kÁuØPõÚ {£¢uøÚPøÍ 
GÊxP. 

Or 

 (b) Write out the statuary provisions regarding issue of 
a prospectus. 

  uPÁÀ AÔUøP öÁÎ°kuÀ \®£¢u©õÚ \mh 
ÂvPøÍ GÊxP. 
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13. (a) What are the ways used for reducing the share 
capital? 

  £[S ‰»uÚzøu SøÓUS® ÁÈPÒ ¯õøÁ? 

Or 

 (b) What are salient features of shares? 

  £[SPÎß ]Ó¨¤¯À¦PøÍ GÊxP. 

14. (a) Write out the advantages of debentures. 

  Phß £zvμzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) What are the methods of borrowing? 

  Phß Áõ[SÁuß ÁøPPÒ ¯õøÁ? 

15.  (a) How the company secretary is appointed? 

  {ÖÁÚ ö\¯»õÍº GÆÁõÖ {¯ªUP¨£kQÓõº? 

Or 

 (b) What are the different types of secretaries? 

  {ÖÁÚ ö\¯»õÍ›ß ÁøPPøÍ GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. According to the companies Act, How the companies are 
classified? 

 {ÖÁÚ \mhzvß RÌ, {ÖÁÚ[PÒ GÆÁõÖ 
ÁøP¨£kzu¨£kQßÓÚ. 

17. What are the liabilities araises due to misstatement in a 
prospectus? 

 uPÁÀ AÔUøP°À uÁÓõÚ uPÁÀ u¸ÁuõÀ HØ£k® 
ö£õÖ¨¦PÒ ¯õøÁ? 
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18. What is share allotment? Write out the rules regarding 
share allotment? 

 £[SPÎß JxURk GßÓõÀ GßÚ? £[S JxURk 
öuõhº£õP {ÖÁÚ \mh® ÂvzxÒÍ {£¢uøÚPÒ 
¯õøÁ? 

19. What are the different types of debentures? 

 Phß £zvμzvß ÁøPPÒ ¯õøÁ? 

20. Elaborate the functions of company secretary. 

 {ÖÁÚ ö\¯»õÍ›ß ö\¯À£õkPøÍ ÂÁ›UPÄ®. 
———————— 
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PARTNERSHIP ACCOUNTING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a partnership deed? 

 Tmhõsø© J¨£¢u® GßÓõÀ GßÚ? 

2. What do you mean by Fluctuating Capital? 

 ©õÖ£k® •uÀ GßÓõÀ GßÚ? 

3. What is gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

4. Write four rights of retiring partners? 

 K´Äö£Ö® TmhõÎPÎß |õßS E›ø©PøÍ GÊx.  

5. What is meant by amalgamation of partnership firms? 

 Tmhõsø© {ÖÁÚ[PÎß J¸[Qøn¨¦ GßÓõÀ 

GßÚ? 
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6. What is purchase consideration? 

 öPõÒ•uÀ £›^»øÚ GßÓõÀ GßÚ? 

7. What is meant by dissolution of firm? 

 {ÖÁÚzvß Pø»¨¦ GßÓõÀ GßÚ? 

8. Who is called as Insolvent partner? 

 vÁõ»õÚ TmhõÎ GßÖ AøÇUP¨£k£Áº ¯õº? 

9. What do you understand by proportionate capital 
method? 

 ÂQuõ\õμ ‰»uÚ •øÓ°À }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

10. What is piece-meal distribution of cash? 

 ]Ôx ]ÔuõP £Qº¢uÎUS® öμõUP® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is past adjustments in partnership accounts? 
Explain. 

  Tmhõsø© PnUSPÎÀ Ph¢u Põ»\›PmkuÀ 
GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) Distinguish between Revaluation Account and 
Realisation Account. 

  ©Ö©v¨¥mkU PnUS ©ØÖ® wºÄ PnUS 
BQ¯ÁØøÓ ÷ÁÖ£kzxP.  
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12. (a) Balu and Sonai sharing profits in proportion of 3:1 
showed the following as their Balance sheet on  
31st  December 2002 

Liabilities Amount 

Rs. 

Assets Amount

Rs. 

Creditors 37,500 Bank 22,500

General reserve 4,000 Bills receivable 3,000

Capital account:  

              Balu  30,000
Debtors 16,000

             Sonai 16,000 Stock 20,000

   Furniture 1,000

   Building 25,000

  87,500   87,500

  They admit Pavana into partnership on 1.1.2003 on 
the following terms: 

 (i) That Pavana pays Rs.10,000 as his capital for 5
1 th 

share in future profit. 

 (ii) That a goodwill account be raised in the books of the 
new firm for Rs.20,000 

 (iii) That stock and furniture be reduced by 10% and 
provision for doubtful debts at 5% be created on 
debtors. 

 (iv) The value of Land and Building be appreciated by 
20% 

 That the capital account of the partners be readjusted on 
the basis of their profit sharing ratio, and any additional 
amount be debited or credited to their current accounts. 
Show profit and loss adjustment account, capital account 
and Balance sheet of the new firm. 
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 £õ¾ ©ØÖ® ÷\õÚõ´ 3:1 ÂQuzvÀ C»õ£[PøÍ¨ £Qº¢x 
öPõshÚº 2002, i\®£º 31 AßÖ u[PÒ C¸¨¦{ø»U 
SÔ¨¦ ¤ßÁ¸ÁÚ.  

ö£õÖ¨¦PÒ Âø» 
¹. 

ö\õzxUPÒ Âø»
¹. 

PhÜ¢÷uõº 37,500 Á[Q°À öμõUP® 22,500
ö£õxUPõ¨¦ 4,000 ö£ÖuØS›¯ ©õØÖa^mk 3,000

‰»uÚU PnUS:  
              £õ¾  30,000

PhÚõÎPÒ 16,000

             ÷\õuøÚ 16,000 \μUQ¸¨¦ 20,000

   AøÓP»ß 1,000

   {»•® Pmih•® 25,000

  87,500   87,500

  ¤ßÁ¸® {£¢uøÚPÐUSm£mk 1.1.2003 AßÖ 
Tmhõsø©°À ¦õÁÚõøÁ ÷\ºzxUöPõÒÍ J¨¦U 
öPõÒQÓõºPÒ.  

  (i) £õÁÚõ GvºPõ» C»õ£zvÀ 1/5 £[SUS uÚx 
‰»uÚ©õP ¹. 10,000 ö\¾zxQÓõº.  

  (ii) |Øö£¯º ¹. 20,000&® BP ¦v¯ {ÖÁÚzvÀ 
AvP¨£kzu¨£kQÓx.  

  (iii) \μUQ¸¨¦ ©ØÖ® AøÓP»ß 10% SøÓUP¨£h 
÷Ásk® ©ØÖ® I¯UPhß JxUS 5% 
PhÚõÎPÎß «x E¸ÁõUP¨£h÷Ásk®.  

  (iv) {»® ©ØÖ® Pmihzvß ©v¨¦ 20% 
E¯ºzu¨£h ÷Ásk®. TmhõÎPÎß ‰»uÚU 
PnUS AÁºPÎß C»õ£¨ £QºÄ ÂQuzvß 
Ai¨£øh°À ©Ö B´Ä ö\´¯ ÷Ásk®, 
÷©¾® TkuÀ öuõøP°øÚ AÁºPÎß 
|h¨¦U PnUSPÎÀ £ØÖ AÀ»x ÁμÄ 
øÁUP¨£h ÷Ásk®. ¦v¯ {ÖÁÚzvß 
C»õ£® ©ØÖ® |mh \› ö\´uÀ PnUS, 
‰»uÚU PnUS ©ØÖ® C¸¨¦{ø»U SÔ¨ø£ 
u¯õº ö\´P.   

Or 
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 (b) A, B and C are partners sharing profits and losses 
in the ratio of 3:2:1. Their balance sheet as on  
31st  December 2015 is as follows. 

Liabilities   Assets   

Capital Accounts:   Goodwill 10,000 

A 65,000 Sundry Debtors 61,400 

B 38,000 Sundry Assets 1,48,000

C 28,000   

General reserve 38,400   

Sundry Creditors  50,000   

 2,19,400  2,19,400

  C desires to retire from the firm on 1st January 
2015. 

In terms of the agreement goodwill is to be revalued 
at Rs. 30,000; Sundry Debtors Rs. 41,400 and other 
sundry assets at Rs. 1,50,000; The amount payable 
to the retired partner is for the present to be treated 
as a loan with 5% Interest. No alteration is made in 
the books value of assets (other than cash and the 
general reserve) Prepare Memorandum revaluation 
a/c capital a/c Balance sheet. 

  A, B ©ØÖ® C BQ¯øÁ 3:2:1 GßÓ ÂQuzvÀ 
C»õ£[PÒ ©ØÖ® |mh[PøÍ¨ £Qº¢xöPõÒÐ® 
TmhõÎPÒ 2015 i\®£º 31 B® ÷uv°À 
AÁºPÎß C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ   ö\õzxUPÒ  
•uÀ PnUS :   |Øö£¯º 10,000 

A 65,000 £Ø£» PhÚõÎPÒ 61,400 

B 38,000 £Ø£» ö\õzxPÒ 1,48,000

C 28,000   
ö£õxUPõ¨¦ 38,400   
£Ø£» PhÜ¢÷uõº 50,000   

 2,19,400  2,19,400
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  2015 áÚÁ› 1 B® ÷uv {ÖÁÚzvÀ C¸¢x K´Ä 

ö£Ó C Â¸®¦QÓõº. J¨£¢uzvß Ai¨£øh°À 
|Øö£¯º ¹. 30,000 BP ©Ö©v¨¦ ö\´¯¨£h 
EÒÍx; £Ø£» PhÚõÎPÒ ¹. 41,400 ©ØÖ® £Ø£» 
ö\õzxUPÒ ¹. 1,50,000 BP©v¨¦ EÒÍx; K´Ä 
ö£ØÓ £[Suõμ¸US ö\¾zu ÷Ási¯öuõøP 
uØ÷£õøu¯ 5% Ámi²hß PhÚõP 
P¸u¨£h÷Ásk® ö\õzxUPÎß •P©v¨¤À G¢u 
©õØÓ•® ö\´¯¨£hÂÀø». (öμõUP® ©ØÖ® 
ö£õxUPõ¨¦ uÂμ) ©Ö©v¨¥mk {øÚÄmk® 
PnUS •uÀ PnUS ©ØÖ® C¸¨¦{ø»U SÔ¨ø£ 
u¯õº ö\´P.  

13. (a) Krishnan and Raman carrying on business in 
partnership resolve to Dissolve the firm and sell off 
the business to Ramakrishna Co. ltd., on  
31-12-2016, when the firm’s position is as under: 

Liabilities   Assets   

Capitals :  Land and buildings 40,000

Krishnan 34,000 Furniture  3,320

Raman 17,000 Stock  15,380

Creditors 21,250 Debtors  8,450

 Cash 5,100

 72,250  72,250

  The arrangement with the company is as follows: 

  (i) Land and Building are purchased at 
Rs.50,000. 

  (ii) Furniture and stock are taken at 10% below 
book value. 
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  (iii) Goodwill of the firm is valued at Rs.7,500. 

  (iv) Debtors are taken at Rs.8,000 and creditors at 
book value. 

  (v) Purchase consideration is discharged in fully 
paid-up shares. 

  You are required to close the books of the firm. 

  Q¸ènß ©ØÖ® μõ©ß Cøn¢x ÁoPzøu |hzv 
Á¢uÚº ¤ß¦ {ÖÁÚzøu Pø»zx, 31.12.2016 
AßÖ μõ©Q¸ènõ & ÷Põ ¼ªöhm {ÖÁÚzvØS 
ÁoPzøu ÂØP •iÄ ö\´ux, {ÖÁÚzvß {ø» 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ   ö\õzxUPÒ  

‰»uÚU PnUS :  {»•® Pmih•® 40,000

Q¸ènß 34,000 AøÓP»ß 3,320 

μõ©ß 17,000 \μUQ¸¨¦ 15,380

PhÜ¢÷uõº 21,250 PhÚõÎPÒ 8,450 

  öμõUP® 5,100 

 72,250  72,250

  {ÖÁÚzvß {ø» ¤ßÁ¸©õÖ.  

  (i) {»® ©ØÖ® Pmih® ¹. 50,000US 
Áõ[P¨£mhx  

  (ii) AøÓP»ß ©ØÖ® \μUQ¸¨¤ß ©v¨¦ 10% 
SøÓUP¨£kQÓx.  

  (iii) {ÖÁÚzvß |Øö£¯º ¹. 7,500 ©v¨¦øh¯x  

  (iv) PhÚõÎPÒ ¹. 8,000 ©ØÖ® PhÜ¢÷uõº 
¦zuP©v¨¤À GkzxUöPõÒÍ¨£kQÓx.  

  (v) öPõÒ•uÀ £›^»øÚ •Êø©¯õP 
ö\¾zu¨£mh £[SPÎÀ öÁÎ÷¯ØÓ¨£kQÓx. 
{ÖÁÚzvß ¦zuPzøu •iUP.  

Or 
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 (b) Rajan and Kumar are partners sharing profits 
equally in a business similar to that carried on by 
Suresh and Ramesh. In order to avoid competition 
they decided to amalgamate the two business by 
taking over the asset and liabilities of Suresh and 
Ramesh admitting him into partnership from          
31.12 .2019. 

Liabilities R & K  S & R  Assets R & K S & R

Creditors 18,500  37,500  Bank 37,500 6,750

Bill payable –  13,250  Debtors 18,000 27,500

Capitals:     Stock 15,500 10,000

 A 30,000  –  Suresh Capital – 4,000

 B 22,500  –  Ramesh Capital – 2,500

 71,000  50,750   71,000 50,750

  The new partnership was to be carried on as R&K, 
S&R and it was agreed between all the parties that 
the books debts and stock of all business of R and K 
were to be reduced by 10% and that of S & R was to 
be credited with such an amount for goodwill as 
would make his capital in the new business equal to 
1/3 of the joint capital of R and K therein prepare 
the necessary accounts. 

  μõáß ©ØÖ® S©õº BQ÷¯õº _÷μè ©ØÖ® μ÷©è 
TmhõÎPÒ |hzv¯øu¨ ÷£õßÓ J¸ Â¯õ£õμzvÀ 
C»õ£[PøÍ \©©õP £Qº¢x öPõÒQßÓÚº. 
÷£õmiø¯z uÂº¨£uØPõP _÷μè ©ØÖ® μ÷©è 
BQ÷¯õ›ß ö\õzx ©ØÖ® ö£õÖ¨¦PøÍ 
31.12.2019 •uÀ Tmhõsø©¯õP J¨¦UöPõÒÁuß 
‰»® Cμsk ÁoPzøu²® J¸[QønUP •iÄ 
ö\´uÚº.  

ö£õÖ¨¦PÒ R & K  S & R  ö\õzxUPÒ R & K S & R
PhÜ¢÷uõº 18,500  37,500  Á[Q 37,500 6,750
ö\¾zuØS›¯ ©õØÖa ^mk –  13,250  PhÚõÎPÒ 18,000 27,500

‰»uÚU PnUS :     \μUQ¸¨¦ 15,500 10,000

 A 30,000  –  _÷μè •uÀ – 4,000

 B 22,500  –  μ÷©è •uÀ – 2,500

 71,000  50,750   71,000 50,750
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  ¦v¯ Tmhõsø© J¨£¢uzvß£i R & K, S & R GÚ 
|hzu¨£h C¸¢ux, ÷©¾® R & K Cß AøÚzx 
ÁoP PhßPÒ ©ØÖ® \μUQ¸¨¦ 10% SøÓUP¨£h 
÷Ásk® GßÖ®, S & R Cß ¦v¯ ÁoPzvÀ R 
©ØÖ® K Cß Tmk ‰»uÚzvß 1/3US \©©õÚ J¸ 
öuõøPø¯ |Øö£¯º PnUQÀ ÁμÄ øÁUP ÷Ásk®. 
÷uøÁ¯õÚ PnUSPøÍ u¯õº ö\´¯Ä®.  

14. (a) A, B, C and D were partners sharing profits in the 
ratio of 3:2:3:2. Their Balance sheet on the date of 
dissolution was as follows: 

Liabilities   Assets   

A’s Capital account 10,000 Assets 17,000

B’s Capital account 5,000 C’s Capital account 6,360 

Reserve fund 4,000 D’s Capital account 1,640 

Creditors 6,000   

 25,000  25,000

  On the above date, C becomes insolvent and was 
able to contribute only 0.50 paise in the rupee. 
Assets realized Rs. 12,500. Realization expenses 
amounted to Rs.400. Prepare ledger accounts. 

  A, B, C ©ØÖ® D TmhõÎPÒ •øÓ÷¯ 3:2:3:2 GßÓ 
ÂQuzvÀ C»õ£[PøÍ¨ £Qº¢xöPõÒQßÓÚº. 
Pø»UP¨£mh ÷uvUS ¤ß¦ AÁºPÎß 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ C¸¢ux.  

ö£õÖ¨¦PÒ   ö\õzxUPÒ  

A •uÀ PnUS 10,000 ö\õzxUPÒ 17,000

B •uÀ PnUS 5,000 C•uÀ PnUS 6,360 

Põ¨¦ {v 4,000 D•uÀ PnUS 1,640 

PhÜ¢÷uõº 6,000   

 25,000  25,000
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  ÷©÷» SÔ¨¤mkÒÍ ÷uv°À, ‘‘C’’ ö|õi¨¦ {ø» 

Aøh¢xÂmhuõÀ ¹£õ´ 0.50 ø£\õ ©mk÷© 

£[PÎUP •i¢ux.ö\õzxUPÒ ¹. 12,500 BP 

©v¨¤h¨£mkÒÍx. wºÄ ö\»ÄPÒ ¹. 400. 

÷£÷μmkU PnUSPøÍz u¯õº ö\´P.  

Or 

 (b) X and Y are in partnership sharing profits and 

losses in the proportion of 3:2. The following is their 

Balance sheet as on 31st January 2012. 

Liabilities   Assets   

Creditors 528 Cash 363 

Reserve 500 Investment 2,080 

Bank Loan 1,000 Debtors 1,960 

Capital account  Stock 875 

X 6,000 Furniture 250 

Y 2,000 Building 4,500 

 10,028  10,028

  They decided to dissolve the partnership on this 

date the assets with the exception of Investments 

and cash, are sold for Rs.6,900. The investment are 

taken over by Y at the market value of Rs.2,200 who 

also agrees to discharge the bank loan. The 

expenses of dissolution are Rs.110, the creditors are 

paid Rs.503 in full settlement. Prepare necessary 

ledger accounts. 
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  X ©ØÖ® Y C»õ£ |mh[PøÍ 3:2 ÂQuõa\õμzvÀ 
£Qº¢xÁ¸QßÓÚ. 2012 áÚÁ› 31 B® ÷uv¯ßÖ 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

PhÜ¢÷uõº 528 öμõUP® 363 

JxUS 500 •u½kPÒ 2,080 

Á[QU Phß 1,000 PhÚõÎPÒ 1,960 

•uÀ PnUS :  \μUQ¸¨¦ 875 

X 6,000 AøÓP»ß 250 

Y 2,000 Pmih® 4,500 

 10,028  10,028

  TmhõÎPÎÒ AøÚÁ¸® Tmhõsø©ø¯ Pø»UP 
•iÄ ö\´QßÓÚº AvÀ •u½kPÒ ©ØÖ® öμõUP® 
uÂμ ö\õzxUPÒ ¹. 6,900US ÂØP¨£kQßÓÚ. 

•u½møh ¹. 2,200 GßÓ \¢øu ©v¨¤À Y 
GkzxUöPõÒQÓõº. AÁº Á[QU PhøÚ²® 
ö\¾zxÁuõP J¨¦U öPõÒQÓõº. Pø»¨¦a ö\»ÄPÒ 
¹. 110, PhÜ¢÷uõºUS ¹. 503 •Êz öuõøP¯õP 
ö\¾zu¨£kQÓx. ÷uøÁ¯õÚ ÷£÷μmkU 
PnUSPøÍz u¯õ›UPÄ®.  

15. (a) Explain the following:  

  (i) Scarifying ratio  

  (ii) Profit sharing ratio. 

  ¤ßÁ¸ÁÚÁØøÓ ÂÍUSP.  

  (i) v¯õP ÂQu® 

  (ii) C»õ£¨ £QºÄ ÂQu® 

Or 
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 (b) From the following distribute cash under 
proportionate capital method” 

  Capital of partners: Sivam – Rs. 20,000; Balan-
Rs.10,000, profit sharing ratio 3:2 

  Ist instalment (cash) -Rs.5,000 

   IInd instalment (cash) Rs.4,000 

  IIInd instalment (cash) Rs.2,000 

  RÌÁ¸® ÂÁμ[PøÍU öPõsk ÂQuõa\õμ •u»õUP 
•øÓ°À öμõUPzøu £Qº¢uÎUP TmhõÎPÎß 
•uÀ : ]Á® ¹. 20,000, £õ»ß ¹.10,000 

  C»õ£¨ £QºÄ ÂQu® 3:2 

  •uÀ uÁøn (öμõUP®) ¹. 5,000 

  Cμshõ® uÁøn (öμõUP®) ¹. 4,000 

  ‰ßÓõ® uÁøn (öμõUP®) ¹. 2,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The capital accounts of partners (Geetham and Preetham 
stood at Rs.30,000 and Rs.15,000 respectively after 
necessary adjustments in respect of drawings and net 
profits for the year ended 2000. It was subsequently 
found that the interest on capital @ 5% and on Drawings 
@ 6% were not considered in arriving at the net profits. 
The drawing of the partners during the year had been 
Geetham Rs.4,000 and Preetham Rs.1,500. The profits for 
the year was Rs. 12,000 the partners share profits and 
losses in the ratio of 2:1. You are required to show the 
adjusted profit and loss a/c, Fixed and Fluctuating capital 
accounts of partners. 
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 2000 B® Bsk CÖv°À Gk¨¦PÒ ©ØÖ® {Pμ 
C»õ£[PÒ öuõhº£õP ÷uøÁ¯õÚ \› ö\´uÀPÐUS¨ 
¤ÓS TmhõÎPÍõÚ Ru® ©ØÖ® ¨Ÿu® BQ¯ÁØÔß 
‰»uÚU PnUSPÒ •øÓ÷¯ ¹. 30,000 ©ØÖ® ¹. 15,000 
BP C¸¢ux. •uÀ «uõÚ Ámi 5% ©ØÖ® Gk¨¦PÒ 
«uõÚ Ámi 6% {Pμ C»õ£[PøÍ AøhÁvÀ 
£›^¼UPÂÀø» GßÖ ¤ßÚº PshÔ¯¨£mhx. Ru® ¹. 
4,000 ©ØÖ® ¨Ÿu® ¹. 1,500 GßÖ C¢u BsiÀ 
Tmhõsø©°¼¸¢x GkzuÚº. C¢u Bsiß C»õ£[PÒ 
¹. 12,000, TmhõÎPÒ 2:1 GßÓ ÂQuzvÀ C»õ£ 
|mh[PøÍ £Qº¢xöPõÒQßÓÚº. TmhõÎPÎß 
\›ö\´¯¨£mh C»õ£|mh PnUSPøÍ, {ø» •uÀ 
©ØÖ® ©õÖ£k® •uÀ •øÓ°À PnUSPøÍ u¯õº 
ö\´¯Ä®.  

17. P, Q and R are partners in a firm sharing profits and 
losses as 1/2:1/6: 1/3 respectively. Their balance sheet on 
31.12.93 was as follows: 

Liabilities   Assets    

Bills payable 10,000 Freehold premises 50,000

Sundry creditors 20,500 Machinery 25,000

Reserve 12,000 Furniture 2,500

Capital A/c:-  Stock 22,500

P: 25,000 Sundry debtors 20,000

Q: 20,000 less: provision 1,000 19,000

R: 35,000 Cash 3,500

 1,22,500  1,22,500

 R retires from the business and the partners agree to the 
following revaluation:-  

 (a) Freehold premises and stock are to be appreciated 
by 20% and 15% respectively.  

 (b)  Machinery and furniture are to be depreciated by 
10% and 7% respectively.  
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 (c)  Bad debts reserve is to be increased to Rs. 1,500;           
A goodwill A/c is to raised at Rs.21,000. Give effect 
to the above arrangement and show the partner’s 
capital accounts and also the balance sheet of P and 
Q as at 1.1.94, assuming they write back the 
goodwill account. Amount due to R’ is paid by cash 
which is brought in by P and Q in their profit 
sharing ratio. 

  P, Q ©ØÖ® R TmhõÎPÒ •øÓ÷¯, C»õ£ 
|mh[PøÍ 1/2 : 1-/6 : 1/3 GÚ £Qº¢x 
öPõÒQßÓÚº. 31.12.93 AßÖ AÁºPÎß 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦UPÒ  ö\õzxUPÒ   

ö\¾zuØS›¯ ©õØÖa ^mk 10,000 {ÖÁÚ ÁÍõP®   50,000 

£Ø£» PhÜ¢÷uõº 20,500 C¯¢vμ®  25,000 

JxUS 12,000 AøÓP»ß  2,500 

‰»uÚ® P/S :  \μUQ¸¨¦  22,500 

P: 25,000 £Ø£» PhPõÎPÒ 20,000  

Q: 20,000 PÈ: JxUS 1,000 19,000 

R: 35,000 öμõUP®  3,500 

 1,22,500   1,22,500 

 ‘‘R’’ ÁoPzvÀ C¸¢x K´Ä ö£ÖQÓõº ©ØÖ® 
TmhõÎPÒ ¤ßÁ¸® ©Ö©v¨¥miØS 
J¨¦UöPõÒQÓõºPÒ.  

 (A) {ÖÁÚ ÁÍõP® ©ØÖ® \μUQ¸¨¦ 20% ©ØÖ® 15% 
GÚ E¯ºzu¨£h ÷Ásk®.  

 (B) C¯¢vμ[PÒ ©ØÖ® AøÓP»ß •øÓ÷¯ 10% ©ØÖ® 
7% SøÓUP¨£h ÷Ásk®  

 (C) ÁõμõUPhß JxUS ¹. 1,500 BP E¯ºzu¨£h 
EÒÍx; |Øö£¯º PnUS ¹. 21,000 BP 
E¯ºzu¨£kQÓx.  

  ÷©÷» EÒÍ ÂøÍÄPÎß£i TmhõÎPÎß •uÀ 
PnUS ©ØÖ® 1.1.1994&À ÷uv°ß£i P & Q&°ß 
C¸¨¦{ø»U SÔ¨¦ u¯õº ö\´P. |Øö£¯º PnUS 
v¸®£ E¸ÁõUP ÷Ásk®. RUS ö\¾zu ÷Ási¯ 
öuõøP°øÚ öμõUP©õP P ©ØÖ® Q°ß C»õ£¨ 
£QºÂÀ £Qº¢uÎUP÷Ásk®.   



F–0218 

  

  15

18. A and B sharing profits in the ratio of 3:2 took out a joint 
life policy on 1.1.95 of as 20,000 for 20 years paying 
annual premium of Rs. 1,000. The surrender values were: 

 1995-Nil, 1996-Rs.200 ,1997-Rs.550, 1998-Rs.970 

 B died on 8th March 1998 and the claim was received on 
30th April. 

 Prepare Joint life policy account. 

 H ©ØÖ® ¤ BQ¯ TmhõÎPÒ C»õ£zøu £Qº¢x 
öPõÒÁx 3:2 AÁºP÷Íõh Tmk ÁõÌUøP J¨£¢u® 
JßøÓ 1.1.95 AßÖ 20,000 ¹£õ´US 20 BskPÐUS  
GkzuõºPÒ. Auß Á¸hõ¢vμ •øn¯® ¹. 1,000 Auß 
J¨£øhUP¨£mh ©v¨¦.  

 1995&CÀø» 1996&¹. 200, 1997&¹. 550 1998&¹. 970. 
1998 ©õºa 8 B® ÷uv ¤ CÓ¢xÂkQÓõº. H¨μÀ 30 À 
÷Põ›UøP öuõøP ö£Ó¨£mhx.  

 Tmk Põ¨¥mk £õ¼] PnUøP u¯õº ö\´P.  

19. The balance sheet of A, B and C who are sharing profits 
and losses in the ratio of 2:2:1. was as follows on 
31.08.2018, the date of dissolution: 

Liabilities   Assets   

Sundry Creditors 1,20,000 Cash in hand 1000

Bank Loan 
(with a charge of stock) 

50,000 Stock 60,000

Capital a/c:  Other assets 1,09,000

 A 30,000 Good will 30,000

B 20,000 “C” Capital a/c 20,000

 2,20,000  2,20,000

 Stock realized Rs. 52,000 and assets sold were for  
Rs. 90,000. Expenses of realization amounted to  
Rs. 3,000. Assuming that all the partners were insolvent 
prepare the necessary ledger accounts to close the books 
of the firm.  
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 H, ¤ ©ØÖ® ] 31.08.2018 AßÖ {ÖÁÚ Pø»¨¤ß÷£õx 
C¸¨¦{ø»U SÔ¨¤À C»õ£ |mh[PøÍ 2:2:1 ÂQuzvÀ 
£Qº¢xöPõshÚº.  

ö£õÖ¨¦PÒ   ö\õzxUPÒ  

£Ø£» PhÜ¢÷uõº 1,20,000 øP°¸¨¦ öμõUP® 1000

Á[QU Phß  
(\μUQ¸¨¦ Pmhnzxhß) 

50,000 \μUQ¸¨¦ 60,000

‰»uÚ® :  ¤Ó ö\õzxUPÒ 1,09,000

 A 30,000 |Øö£¯º 30,000

B 20,000 “C” •uÀ PnUS 20,000

 2,20,000  2,20,000

 \μUQ¸¨¦ wºÄ ©v¨¦ ¹. 52,000 ©ØÖ® ÂØP¨£mh ¤Ó 
ö\õzxUPÒ ¹. 90,000 wºÄ ö\»ÄPÒ ¹. 3,000 BS®. 
AøÚzx TmhõÎPÐ® vÁõ»õQ ÂmhÚº GßÖ P¸v 
{ÖÁÚzvß ¦zuP[PøÍ •i¨£uØS ÷uøÁ¯õÚ 
÷£÷μmk PnUSPøÍz u¯õ›UPÄ®.  

20. P, Q, R were partners sharing profits and losses in the 
ratio of 1/2, 1/3 and 1/6, They decided to dissolve their 
firm on 31.3.93. Their balance sheet as on the date of 
dissolution was as follows: 

Liabilities   Assets   

Capital:  Cash in hand 8,000

 P 40,000 Debtors 84,000

 Q 20,000 Stock 32,000

 R 4,000  

Creditors 60,000  

 1,24,000  1,24,000
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 Further, they decided to distribute the cash as and with 

realized. The realization and Expenses are as follows: 

Month Debtors Stock Expenses

Feb 16,000 8,000 2,000

March 24,000 12,000 1,600

April 14,000 6,000 1,400

May 20,000 2,000 1,000

June 4,000 7,000 1,200

 Stock having been completely sold; R to collect the 

remaining debtors worth Rs.1 ,200. Prepare a statement 

showing the piecemeal distribution of each. 

 P, Q, R C»õ£ |mh[PøÍ 1/2, 1/3 ©ØÖ® 1/6 GßÓ 

ÂQuzvÀ TmhõÎPÒ £Qº¢x öPõshÚº. AÁºPÒ 

u[PÒ {ÖÁÚzøu 31.3.93 AßÖ Pø»UP •iÄ ö\´uÚº. 

Pø»¨¦z ÷uv°ß£i AÁºPÎß C¸¨¦{ø»U SÔ¨¦ 

¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ  ö\õzxUPÒ  

‰»uÚU PnUS:  øP°¸¨¦ öμõUP® 8,000

 P 40,000 PhÚõÎPÒ 84,000

 Q 20,000 \μUQ¸¨¦ 32,000

 R 4,000  

Creditors 60,000  

 1,24,000  1,24,000
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 ÷©¾®, AÁºPÒ öμõUPzøu £Qº¢uÎUS® •iÂÀ 
E¸ÁõUQÚº. wºÄ ö\»ÄPÒ ¤ßÁ¸©õÖ.  

©õu® PhÚõÎPÒ \μUQ¸¨¦ ö\»ÄPÒ

¤¨μÁ› 16,000 8,000 2,000

©õºa 24,000 12,000 1,600

H¨μÀ 14,000 6,000 1,400

÷© 20,000 2,000 1,000

áüß 4,000 7,000 1,200

 \μUQ¸¨¦ •ØÔ¾® ÂØP¨£mkÒÍÚ; R «u•ÒÍ 
PhÚõÎhª¸¢x ¹. 1,200 Á`¼UP ÷Ásk®. ]Ôx 
]ÔuõP £Qº¢uÎUS® öμõUP AÔUøPø¯z u¯õ›UPÄ®.  

  
———————— 
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MARKETING MANAGEMENT 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you know about barter system? 

 £sh ©õØÖ •øÓ £ØÔ } AÔÁÚ ¯õøÁ? 

2. Define market segmentation. 

 \¢øu £S¨¤ß C»UPn® TÖP. 

3. What is buying? 

 Áõ[SuÀ GßÓõÀ GßÚ? 

4. What is forward buying? 

 Gvº£õº¦U öPõÒ•uÀ GßÓõÀ GßÚ? 

5. What is consumer goods? 

 ~Pº£Áº ö£õ¸ÒPÒ GßÓõÀ GßÚ? 

6. What is personal selling? 

 ÷|º•P ÂØ£øÚ GßÓõÀ GßÚ? 
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7. What is Advertising? 

 ÂÍ®£μ® GßÓõÀ GßÚ? 

8. What is Sales Promotion? 

 ÂØ£øÚ ö£ÖUP® GßÓõÀ GßÚ? 

9. What is Odd Pricing? 

 JØøÓ¨£øh¯õÚ Âø» GßÓõÀ GßÚ? 

10. What is Target Pricing? 

 SÔ°»US Âø» {ºn¯® GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the elements of marketing mix. 

   \¢øu°køPU P»øÁ°ß TÖPÒ £ØÔ ÂÍUSP. 

Or 

 (b) What are the importance and benefits of marketing? 
Explain. 

   \¢øu°¯¼ß CßÔ¯ø©¯õø©²® |ßø©PÐ® 
£ØÔ ÂÍUSP. 

12. (a) Explain the types of selling policies. 

   ÂØ£øÚ öPõÒøPPÎß £À÷ÁÖ ÁøPPøÍ £ØÔ 
ÂÍUSP. 

Or 

 (b) Explain the benefits of Transport Services.  

   ÷£õUSÁμzx £oPÐ® |ßø©PÐ® £ØÔ ÂÍUSP. 
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13. (a) Explain the need for new product.  

   ¦v¯ ö£õ¸mPÎß AÁ]¯zøu £ØÔ ÂÍUSP. 

Or 

 (b) What are the characteristics of a Good Package? 

   ]Ó¢u öPõÒP»ßPÎß ]Ó¨¤¯À¦PÒ £ØÔ TÖP. 

14. (a) Explain the duties of the Salesman. 

   ÂØ£øÚ £o¯õÍ›ß £oPÒ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the responsibilities of Salesman. 

   ÂØ£øÚ £o¯õÍ›ß ö£õÖ¨¦UPÒ £ØÔ ÂÍUSP. 

15. (a) Explain the advantages of Newspaper Advertising. 

   ö\´vzuõÒ ÂÍ®£μzvß |ßø©PÒ £ØÔ ÂÍUSP. 

Or 

 (b) Explain the basic pricing policies. 

   Ai¨£øh Âø» {ºn¯U öPõÒøPPÒ £ØÔ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the factors affecting marketing mix. 

 \¢øu°køPU P»øÁø¯ £õvUS® PõμoPÒ £ØÔ ÂÁ›. 

17. Explain the various functions of marketing. 

 \¢øu°h¼ß £À÷ÁÖ £oPÒ £ØÔ ÂÍUQ ÂÁ›. 
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18. Explain in detail failure of a product. 

 ö£õ¸Ò ÷uõÀÂ¯øhuÀ £ØÔ¯ PõμoPÒ £ØÔ ÂÁ›. 

19. What are the qualities of a successful salesman?  Explain 
in detail. 

 ÂØ£øÚ £o¯õÍºPÎß Sn|»ßPÒ £ØÔ ÂÁ›. 

20. Explain the types of Sales Promotion Programme.  

 ÂØ£øÚ ö£¸UP |hÁiUøP°ß ÁøPPÒ £ØÔ ÂÁ›. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Who is an Alternate Director? 

 ©õØÖ C¯USÚº Gß£Áº ¯õº? 

2. Write a short note on ‘Board of Directors’. 

 C¯US|º SÊ©® SÔzx ]ÖSÔ¨¦ GÊxP. 

3. Define Manager. 

 {ºÁõQ Áøμ¯Ö. 

4. Who is Independent Director? 

 _¯õwÚ C¯US|º Gß£Áº ¯õº? 

5. What is Statutory Meeting? 

 \mh•øÓU Tmh® GßÓõÀ GßÚ? 
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6. Write a note on Committee Meeting? 

 SÊ Tmh® SÔzx SÔ¨¦ GÊxP. 

7. What is Inspection Report? 

 B´Ä AÔUøP GßÓõÀ GßÚ? 

8. What is an audit committee? 

 uoUøP SÊ GßÓõÀ GßÚ? 

9. What is Company winding up? 

 {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

10. Who is a Contributory? 

 £[PÎ¨£õÍº Gß£Áº ¯õº? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the role of Director as agent. 

   J¸ •PÁμõP C¯USÚ›ß £[PÎ¨ø£ ÂÍUSP. 

Or 

 (b) What are the disqualifications of a director? 

   J¸ C¯USÚ›ß uSv }UP PõμoPÒ ¯õøÁ? 

12. (a) Explain the role and functions of independent 
director. 

   _¯õwÚ C¯USÚ›ß £[PÎ¨¦ ©ØÖ® 
ö\¯À£õkPøÍ ÂÍUSP. 

Or 

 (b) What is DIN? Explain the procedure for allotment 
of a DIN.  

   DIN GßÓõÀ GßÚ? DIN JxUSÁuØPõÚ 
|øh•øÓø¯ ÂÍUSP. 
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13. (a) State the procedure for issue of notice of company 
meetings. 

   {ÖÁÚzvß Tmh[PÎß AÔÂ¨ø£ 
öÁÎ°kÁuØPõÚ |øh•øÓø¯ SÔ¨¤hÄ®. 

Or 

 (b) Explain various types of Resolutions. 

   £À÷ÁÖ Âu©õÚ wº©õÚ[PøÍ ÂÍUSP. 

14. (a) What are the contents of CSR Report? 

   CSR AÔUøP°ß EÒÍhUP[PÒ ¯õøÁ? 

Or 

 (b) State the disqualifications of Auditor. 

   uoUøP¯õÍ›ß uSv°ßø©ø¯U SÔ¨¤hÄ®. 

15. (a) State the procedure for dissolution of the company. 

   J¸ {ÖÁÚzøu Pø»¨£uØPõÚ |øh•øÓø¯ 
SÔ¨¤hÄ®. 

Or 

 (b) Explain the procedure for liquidation. 

   wºzx øÁzu¾UPõÚ |øh•øÓPøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various methods of appointing a director of a 
company. 

J¸ {ÖÁÚzvß C¯USÚøμ {¯ª¨£uØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 
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17. Describe the provisions relating to Appointment of Key 
Managerial Personnel. 

•UQ¯ {ºÁõP £o¯õÍºPÎß {¯©Ú® öuõhº£õÚ 
ÂvPøÍ ÂÁ›UPÄ®. 

18. Explain the various kinds of Company Meetings. 

 £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ Tmh[PøÍ ÂÁ›UPÄ®. 

19. Explain the powers and duties of Auditor. 

 uoUøP¯õÍ›ß AvPõμ[PÒ ©ØÖ® Phø©PøÍ 
ÂÍUSP. 

20. Explain the various modes of winding up of companies.  

 {ÖÁÚ[PøÍ Pø»¨£uØPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you understand by Financial Management?  

 {v ÷©»õsø© £ØÔ Á[PÐUS öu›¢uøu GÊxP. 

2. Write the objectives of financial Management.  

 {v ÷©»õsø©°ß SÔU÷PõøÍ GÊxP. 

3. What is capital Budgeting?  

 •uÀ ÁμÄ ö\»Ä £mi¯À GßÓõÀ GßÚ? 

4. What is Payback period method?  

 •u½miß v¸¨£ ö£Ö® Põ» •øÓ GßÓõÀ GßÚ? 

5. List out the types of working capital. 

 |øh•øÓ •uÀ ÁøPPøÍ Á›ø\£kzxP. 
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6. Write any three factors which is affecting the working 
capital. 

 |øh•øÓ •uø» £õvUS® ‰ßÖ PõμoPøÍ GÊxP.  

7. What is Receivable Management?  

 ö£Öu¾UPõÚ ÷©»õsø© GßÓõÀ GßÚ? 

8. What is Economic  order Quantity?  

 ö£õ¸Íõuõμ JÊ[S AÍÄ GßÓõÀ GßÚ? 

9. What is variable cost?  

 ©õÖ£k® ö\»Ä GßÓõÀ GßÚ? 

10. What is Break-even point?  

 \›\© ¦ÒÎ {ø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain various Finance function.  

  {v°ß £À÷ÁÖ ö\¯À£õkPøÍ ÂÍUPÄ®. 

Or 

 (b) Write the objective of profit maximization, and its 
for and against arguments. 

  C»õ£ AvP›¨¤ß SÔU÷PõøÍ GÊuÄ® ©ØÖ® 
Auß BuμÁõPÄ® GvμõPÄ® ÂÍUSP. 

12. (a) Companies X and Y are identical in all respects 
including risk factors except for Debt/equity,  
X having issued 10% Debentures of 18 lakhs while 
Y has issued only equity. Both the companies earn 
20% before interest and taxes on their total assets of 
30 lakhs. Assuming a tax rate of 50% and 
capitalisation rate of 15% for an all equity company  
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  Calculate : 

  (i) Net Income approach  

  (ii) Net operating Income Approach.  

  {ÖÁÚ® X ©ØÖ® Y – Cμsk® \©©õÚ {v 
{ø»ø¯ öPõshx. BÚõÀ, X – 10% PhÜmk 
£zvμzøu ¹. 18 »m\zvØS®, A÷u \©¯® Y – 
\õuõμn £[SPøÍ ©mk® £¯ß£kzv¯x. Cμsk 
P®ö£ÛPÐ® 20% Á¸Áõ´ (Ámi ©ØÖ® Á›US 
•¢øu¯ C»õ£®) – ö©õzu ö\õzxPÒ ¹. 30 »m\®. 
Ámi ÂQu® 50% ©õP P¸uÄ®, 15% ‰»uÚ BUP® 
PnUQkP. 

  (i) NI •øÓ 

  (ii) NOI •øÓ. 

Or 

 (b) ABC Ltd. raised a debts of Rs. 50 lakhs on the terms 
that Interest shall be Payable at prime lending rate 
of Bank plus 3%. The prime lending rate of the 
Bank is 7%. Calculate the cost of debt assuming 
that the corporate rate of Tax is 35%.  

  ABC Ltd. Auß ö£õÖ¨¦PøÍ ¹.50 »m\©õP 
E¯ºzxQÓx. Ámi ÂQu® •ußø© ÂQu® ©ØÖ® 
Á[Q Ámi 3% ö\¾zu¨£kQÓx. Á[Q •ußø© 
Ámi ÂQu® 7%, PhßPÎß ö©õzu ö\»øÁ 
PnUQkP. {ÖÁÚ Á› 35%. 

13. (a) A company issues 10,000 10% preference shares of 
Rs. 100 each cost of issue is Rs. 2 per share. 
Calculate cost of preference capital if there shares 
are issued  

  (i) at part 

  (ii) at premium 10% 

  (iii) discount 5% 
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  J¸ {ÖÁÚ® 10,000 •ßÝ›ø© £[SPøÍ 10% 
Ámi²hß u»õ 100 ¹£õ´ ©v¨¤À öÁÎ°mhx. 
öÁÎ°kÁuØPõÚ ö\»Ä ¹. 2 (u»õ) •ßÝ›ø© 
£[SPÎß ö©õzu ö\»øÁ PnUQkP. 

  (i) •P ©v¨¦ 

  (ii) •øÚ©zvÀ 10% öÁÎ°kuÀ 

  (iii) uÒÐ£i°À 5% öÁÎ°kuÀ. 

Or 

 (b) A company issues 1,000 equity shares of Rs. 100 
each at a premium of 10%. The company has been 
paying 20% dividend to equity shareholders for the 
past 5 years and expects to maintain the same in 
the future also. 

  Compute the cost of capital. Will it make any 
different if the market price of equity share  
is Rs. 60. 

  J¸ {ÖÁÚ® 1000 – \õuõμn £[SPøÍ u»õ 100 
¹£õ´ Ãu® 10% •øÚ©zvÀ öÁÎ°kQÓx. 
{ÖÁÚ® 20% uÒÐ£iø¯ \õuõμn £[SuõμºPÐUS 
Ph¢u 5 Á¸h[PÍõP ö\¾zxQÓx, Cøu Gvº 
Põ»zv¾® öuõh[S®. 

  •u¾UPõÚ ö\»øÁ PnUQkP. \õuõμn £[SPÎß 
\¢øu Âø» ¹.60–BP C¸¢uõÀ Ax GxÄ® 
Âzv¯õ\zøu HØ£kzx©õ? 

14. (a) Calculate the operating, financial and combined 
leverage : 

  Sales   –  Rs. 50,000 

  Variable cost  –  Rs. 25,000 

  Interest   –  Rs. 5,000 

  Fixed cost   –  Rs. 15,000 
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  ö\¯À£õk, {v°¯À ©ØÖ® Cøn¢u ö|®¦uø» 
PnUQkP. 

  ÂØ£øÚ  –  ¹. 50,000 

  ©õÖ£õk ö\»Ä  –  ¹. 25,000 

  Ámi   –  ¹. 5,000 

  {ø» ö\»Ä –  ¹. 15,000 

Or 

 (b) A firm’s monthly cash requirement is Rs. 1,80,000. 
Every month cash is procured by selling marketable 
securities. The fixed cost per transaction is Rs. 100. 
The firm gets annual interest at 12% on its 
marketable securities. You are required to use the 
EOQ model and find out : 

  (i) Optimal cash balance 

  (ii) Average cash balance. 

  J¸ {ÖÁÚzvß ©õu¢vμ £nz ÷uøÁ ¹.1,80,000. 
JÆöÁõ¸ ©õu•® \¢øu¨£kzuUTi¯ £zvμ[PøÍ 
ÂØ£uß ‰»® £n® ö£Ó¨£kQÓx. J¸ 
£›ÁºzuøÚUPõÚ {ø»¯õÚ ö\»Ä ¹.100. 
{ÖÁÚ® Auß \¢øu¨£kzuUTi¯ £zvμ[PÐUS 
12% Bsk Ámiø¯¨ ö£ÖQÓx. }[PÒ EOQ 
©õv›ø¯¨ £¯ß£kzu ÷Ásk® ©ØÖ® 
Psk¤iUP. 

  (i) ]Ó¢u öμõUP C¸¨¦ 

  (ii) \μõ\› öμõUP® C¸¨¦. 

15. (a) What is inventory management? Explain its 
objective. 

  \μõUQ¸¨¦ ÷©»õsø© GßÓõÀ GßÚ? Auß 
÷|õUP[PøÍ ÂÁ›UPÄ®. 

Or 
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 (b) Explain the following terms : 

  (i) Cash cycle 

  (ii) Cash turnover 

  (iii) Float. 

  ¤ßÁ¸£ÁÚøÁ ÂÍUSP. 

  (i) öμõUP _ÇØ] 

  (ii) öμõUP ÂØ£øÚ 

  (iii) ªuUS®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the significance of Financial Management. 

 {v ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUSP. 

17. A choice is to be made between two competing proposals. 
Which require an equal investment of Rs. 50,000 and are 
expected to generate net cash flows as under : 

  Project I Project II 

End of year 1  Rs. 25,000  Rs. 10,000

End of year 2  15,000  12,000

End of year 3  10,000  18,000

End of year 4  Nil  25,000

End of year 5  12,000  8,000

End of year 6  6,000  4,000

 The cost of capital of the company is 10% 
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 P.V. factor 10% p.a. 

Year : 1 2 3 4 5 6 

Factor : 0.909 0.826 0.751 0.683 0.621 0.564

 Which project proposal should be chosen and why? 

 (a) Pay-back period 

 (b) Discounted cash flow method 

 (c) Excess present value index. 

 ÷£õmi°k® Cμsk vmh[PÐUS Cøh÷¯ JßÖ ÷uºÄ 
ö\´¯¨£h ÷Ásk®. ¹.50,000&US \©©õÚ •u½k 
÷uøÁ ©ØÖ® {Pμ £n¨¦ÇUP[PøÍ E¸ÁõUP 
Gvº£õºUP¨£kQÓx. 

  vmh® I vmh® II 

I – Á¸h CÖv°À    ¹.25,000  ¹. 10,000

II – Á¸h CÖv°À  15,000  12,000 

III – Á¸h CÖv°À  10,000  18,000 

IV– Á¸h CÖv°À  CÀø»  25,000 

V– Á¸h CÖv°À  12,000  8,000 

VI – Á¸h CÖv°À  6,000  4,000 

 {ÖÁÚzvß ö©õzu •u¾UPõÚ ö\»Ä 10%; P.V. factor 
10% p.a. 

Bsk : 1 2 3 4 5 6 

Factor: 0.909 0.826 0.751 0.683 0.621 0.564

 G¢u vmh® ]Ó¢ux ©ØÖ® Hß GÚ TÖP? 

 (A) •u½k v¸®£ö£Ö® Põ» •øÓ 

 (B) uÒÐ£i öμõUP ÁμÄ •øÓ 

 (C) Avu |h¨¦ ©v¨¦ SÔ±k •øÓ. 
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18. The following projections have been given is respect of 
companies X and Y : 

Particulars Company X Company Y 

Volume of output and sales 80,000 units 1,00,000 units

Variable cost per unit Rs. 4 Rs. 3 

Fixed cost Rs. 2,40,000 Rs. 2,50,000 

Interest burden on debt Rs. 1,20,000 Rs. 50,000 

Selling price per unit Rs. 10 Rs. 8 

 On the basis of above information calculate : 

 (a) Operating leverage 

 (b) Financial leverage 

 (c) Combined leverage 

 (d) Operating break-even point 

 (e) Financial break-even point. 

 {ÖÁÚ® X ©ØÖ® Y&°h® ö£Ó¨£mh ÂÁμ[PÒ : 

ÂÁμ[PÒ {ÖÁÚ® X {ÖÁÚ® Y 

ÂØ£øÚ 80,000 A»SPÒ 1,00,000 A»SPÒ

©õÖ£k® ö\»Ä (u»õ) ¹. 4 ¹. 3 

{ø»¯õÚ ö\»Ä ¹. 2,40,000 ¹. 2,50,000 

Ámi ÂQu® – Phß «x ¹. 1,20,000 ¹. 50,000 

ÂØ£øÚ Âø» (u»õ) ¹. 10 ¹. 8 

 (A) ö\¯À£õk 

 (B) {v°¯À 

 (C) Cøn ö|®¤PøÍ PnUQkP 

 (D) ö\¯À£õmk \›\© {ø» 

 (E) {v°¯À \›\© {ø» BQ¯øÁ PnUQkP. 
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19. Explain the limitations involved in the over capitalisation 
and what are the remedies taken to avoid the 
consequences. 

 AvP ‰»uÚ©õUP¼À EÒÍ Áμ®¦PÒ ©ØÖ® ¤ß 
ÂøÍÄPøÍz uÂºUP GkUP¨£h ÷Ási¯ 
|hÁiUøPPøÍ ÂÍUSP. 

20. The following information is obtained from the Bin cards 
of company : 

 (a) Calculate the inventory turnover of materials  
X, Y, Z 

 (b) If the price of material X, Y and Z are Rs. 10, 7 and 
4 per unit what is the total turnover of material 
consumed? 

 (c) Find the period for which average inventory of each 
material is held 

  X units Y units Z units 

Purchase 1,20,000 1,08,000 1,20,000

Opening stock 6,000 2,000 10,000

Closing stock 3,000 12,000 18,000

 Bin Co., &ß ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

 (A) \μUQ¸¨¦ ‰»¨ö£õ¸Ò C¸¨¦ Âu® X, Y, Z 

 (B) ‰»¨ö£õ¸Îß Âø» X, Y, Z UPõÚ – ¹. 10, 7 
©ØÖ® 4 u»õ J¸ A»SUS ö©õzu ~Pμ£mh 
‰»¨ö£õ¸Ò GßÚ? 
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 (C) \μõ\› ‰»¨ö£õ¸Ò C¸¨¦ Põ»® –  Psk¤iUPÄ®. 

  X A»SPÒ Y A»SPÒ Z A»SPÒ

öPõÒ•uÀ 1,20,000 1,08,000 1,20,000

öuõhUP \μUQ¸¨¦ 6,000 2,000 10,000

CÖv \μUQ¸¨¦ 3,000 12,000 18,000

 
 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ°¯À – Áøμ¯Ö. 

2. What is meant by Tabulation? 

 AmhÁøn¨£kzxuÀ Gß£uß ö£õ¸Ò GßÚ? 

3. Fit a trend line to the following data by graphical 
method. 

Year  1996 1997 1998 1999 2000 2001 2002

Sales (in Rs. ‘000) 60 72 75 65 80 85 95 

 ¤ßÁ¸® ÂÁμ[PÐUS Áøμ£h •øÓ°À ÷£õUSU ÷Põk 
ÁøμP. 

Á¸h® 1996 1997 1998 1999 2000 2001 2002

ÂØ£øÚ (¹&À ‘000) 60 72 75 65 80 85 95 

Sub. Code 
7BCS4C3 



F–0222 

  

  2

4. In a survey of 40 families in a village, the number of 

children per family was recorded and the following data 

obtained. Represent the data in the form of a discrete 

frequency distribution. 

1 0 3 2 1 5 6 2

2 1 0 3 4 2 1 6

3 2 1 5 3 3 2 4

2 2 3 0 2 1 4 5

3 3 4 4 1 2 4 5

 J¸ Qμõ©zvÀ 40 Sk®£[PÒ B´Ä ö\´¯¨£mhx. 

JÆöÁõ¸ Sk®£zv¾® EÒÍ SÇ¢øuPÎß 

GsoUøPø¯ £vÄ ö\´¯¨£mk ¤ßÁ¸® ÂÁμ[PÒ 

ö£Ó¨£mhÚ. CÆÂÁμ[PøÍ öPõsk öuõhºa]¯ØÓ 

Aø»öÁs £μÁø» Aø©UPÄ®. 

1 0 3 2 1 5 6 2

2 1 0 3 4 2 1 6

3 2 1 5 3 3 2 4

2 2 3 0 2 1 4 5

3 3 4 4 1 2 4 5

5. Define: Probability. 

 Áøμ¯Ö : {PÌuPÄ. 

6. Calculate the mean for 2,4, 6, 8, 10 

 CÁØÔß \μõ\›ø¯ PõsP 2,4, 6, 8, 10. 
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7. Find the Quartile Deviation for the Following data : 

 391, 384, 591, 407, 672, 522, 777, 733, 1490, 2488. 

 RÌPsh ÂÁμ[PÐUS PõÀ©õÚ Â»UPzøu PnUQkP. 

 391, 384, 591, 407, 672, 522, 777, 733, 1490, 2488. 

8. Calculate the standard deviation from the following data. 

 14, 22, 9, 15, 20, 17, 12, 11 

 RÌPsh ÂÁμ[PÐUS vmh Â»UP® PnUQkP. 

 14, 22, 9, 15, 20, 17, 12, 11 

9. Given 8/151 =b  and 5/32 =b  Find r . 

 r &©v¨¦ u¸P. 8/151 =b  ©ØÖ® 5/32 =b . 

10. Calculate index numbers from the following data by 
simple aggregate method taking prices of 2000 as base. 

Commodity Price per unit
(in Rupees) 

 2000  2004 

A 80 95 

B 50 60 

C 90 100 

D 30 45 

 ¤ßÁ¸® ÂÁμ[PÐUS GÎ¯ ö©õzu SÔ±mk Gs 
•øÓ°À SÔ±mk Gs PnUQkP. 

ö£õ¸Ò Price per unit
(in Rupees) 

 2000  2004 

A 80 95 

B 50 60 

C 90 100 

D 30 45 
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 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) From the given data calculate H.M. 10, 20, 34, 48, 60. 

  10, 20, 34, 48, 60 CÁØÔß Cø\a\μõ\› PõsP. 

Or 

 (b) Calculate 3D  and 7D . 

Class Interval : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Frequency : 2.5 3.5 6 8 5 4 2 

  R÷Ç öPõkUP¨£mkÒÍ Â£μzvØS 3D  ©ØÖ® 7D  
PnUQkP. 

¤›Ä CøhöÁÎ :  0-10 10-20 20-30 30-40 40-50 50-60 60-70

Aø»öÁs : 2.5 3.5 6 8 5 4 2 

12. (a) The following table gives the frequency distribution 
of 325 workers of a factory, according to their 
average monthly income in a certain year. 

Income group  
(in Rs.) 

Below 100 100-150 150-200 200-250 250-300 300-350 

Number of  
workers 

1 20 42 55 62 45 

Income group  
(in Rs.) 

350-400 400-450 450-500 500-550 550-600 600 and above 

Number of  
workers 

30 25 15 18 10 2 

  Calculate median income. 
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  ¤ßÁ¸® Aø»öÁs£μÁÀ AmhÁøn J¸ 
öuõÈØ\õø»°À £o¦›²® 325 öuõÈ»õÍºPÎß 
J¸ Á¸hzvØS›¯ \μõ\› ©õu Á¸©õÚzøuU 
SÔUQÓx. CÁØøÓU öPõsk Cøh{ø» 
Á¸©õÚzøu PnUQkP. 

Á¸©õÚ 
¤›Ä 
(¹£õ°À) 

Below 100 100-150 150-200 200-250 250-300 300-350 

öuõÈ»õÍº 
GsoUøP 

1 20 42 55 62 45 

Á¸©õÚ 
¤›Ä 
(¹£õ°À) 

350-400 400-450 450-500 500-550 550-600 600 and above 

öuõÈ»õÍº 
GsoUøP 

30 25 15 18 10 2 

Or 

 (b) Weekly wages of labours are given below. 
Calculated Q.D and Coefficient of Q.D. 

Weekly Wage (Rs.) : 100 200 400 500 600

No of weeks : 5 8 21 12 6 

  T¼z öuõÈ»õÍºPÎß Áõμ Fv¯[PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. PõÀ©õÚ Â»UP® ©ØÖ® 
Â»UPU öPÊ CÁØøÓ PnUQkP. 

Áõμ Fv¯® (¹.) : 100 200 400 500 600

Áõμ[PÎß GsoUøP : 5 8 21 12 6 

13. (a) The table below gives the marks obtained by  
10 students in statistics. Calculate standard 
deviation. 

Student Nos : 1 2 3 4 5 6 7 8 9 10

Marks : 43 48 65 57 31 60 37 48 78 59
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  R÷Ç Põq® AmhÁøn°À 10 ©õnÁºPÎß 
¦ÒÎ°¯À ©v¨ö£sPÒ uμ¨£mkÒÍÚ. AuøÚ 
öPõsk vmh Â»UP® PnUQkP. 

©õnÁºPÎß GsoUøP : 1 2 3 4 5 6 7 8 9 10

©v¨ö£s : 43 48 65 57 31 60 37 48 78 59

 Or 

 (b) Particulars regarding income of two villages are 
given below. 

 Villages 

 A B 

No. of people 600 500

Average income 175 186

Standard deviation of income 10 9 

  Compute combined mean and combined Standard 
deviation. 

  Cμsk Qμõ©[PÎß Á¸©õÚ Â£μ[PÒ R÷Ç 
öPõkUP¨£mkÒÍx. 

 Qμõ©[PÒ 

 A B 

©UPÎß GsoUøP 600 500

\μõ\› Á¸©õÚ® 175 186

Á¸©õÚzvß vmh Â»UP® 10 9 

  Cøn¢u Tmka\μõ\› ©ØÖ® Cøn¢u vmh 
Â»UPzøu PnUQkP. 
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14. (a) Calculate coefficient of correlation from the 
following data. 

X 1 2  3 4 5 6 7 8 9 

Y 9 8  10 12 11 13 14 16 15 

  ¤ßÁ¸ÁÚÁØÔÀ JmkÓÄU öPÊ PõsP 

X 1 2  3 4 5 6 7 8 9 

Y 9 8  10 12 11 13 14 16 15 

Or 

 (b) In a marketing survey the price of tea and coffee in 
a town based on quality was found as shown below. 
Could you find any relation between and tea and 
coffee price? 

Price of tea 88 90 95 70 60 75 50 

Price of coffee 120 134 150 115 110 140 100

  J¸ \¢øu B´ÂÀ J¸ |PμzvÀ uμzvß 
Ai¨£øh°À ÷u}º ©ØÖ® Põ¨¤°ß Âø» {»Áμ® 
RÌUPshÁõÖ öPõkUP¨£mkÒÍx. CÁØÔß 
Âø»PÐUS Cøh°»õÚ öuõhº¤øÚ EßÚõÀ 
Põn C¯¾©õ? 

÷u}º Âø» 88 90 95 70 60 75 50 

Põ¤°ß Âø» 120 134 150 115 110 140 100 

15. (a) Distinguish between skewness and kurtosis and 
bring out their importance in describing frequency 
distribution. 

  ÷Põmh® ©ØÖ® umøh¯ÍøÁ ÷ÁÖ£kzv PõmkP. 
÷©¾® Aø»öÁs £μÁø» ÂÍUP AÁØÔß 
•UQ¯zxÁ® ¯õx? 

Or 
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 (b) Explain Time Reversal Test and Factor Reversal 
Test. 

  Põ» ©õØÖ ÷\õuøÚ ©ØÖ® Põμo ©õØÓ 
÷\õuøÚø¯ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Compute Mean deviation from mean and median from 
the following data : 

Height in cms 158 159 160 161 162 163 164 165 166

No. of persons 15 20 32 35 33 22 20 10 8 

 Also compute coefficient of mean deviation. 

 RÌPsh ÂÁμ[PÎ¼¸¢x \μõ\› Â»UPzøu Tmk\μõ\› 
©ØÖ® Cøh{ø»°¼¸¢x PnUQkP. 

E¯μ® (ö\.«.) 158 159 160 161 162 163 164 165 166

|£ºPÎß 
GsoUøP 

15 20 32 35 33 22 20 10 8 

 ÷©¾® \μõ\› Â»UPU öPÊøÁ²® PnUQkP. 

17. Calculate first four moments from the following data. 

X : 0 1 2 3 4 5 6 7 8 

F : 5 10 15 20 25 20 15 10 5 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x •u¼À HuõÁx 
Av°¼¸¢x GkUP¨£mh •uÀ |õßS Â»UP¨ ö£¸USz 
öuõøPPøÍU Psk¤izx ¤ÓS ø©¯ Â»UP¨ ö£¸USz 
öuõøPPøÍ Psk¤i. 

X : 0 1 2 3 4 5 6 7 8 

F : 5 10 15 20 25 20 15 10 5 
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18. Distinguish between Karl Pearson’s coefficient of 
correlation and Spearman’s correlation coefficient. 

 PõºÀ ¤¯º\Ûß JmkÓÄU öPÊøÁ²® ì¤¯º©Ûß uμ 

Á›ø\ JmkÓÄU öPÊøÁ²® ÷ÁÖ£kzvU PõmkP. 

19. Compute the two regression equations from the following 

data. 

X  1 2 3 4 5

Y 2 3 5 4 6

 If 5.2=x , What will be the value of y? 

 RÌPsh ÂÁμ[PÐUS C¸ Ehß öuõhº¦¨ ÷£õUSa 

\©ß£õkPøÍU PnUQhÄ®. 

X  1 2 3 4 5

Y 2 3 5 4 6

 5.2=x , GÛÀ y&ß ©v¨¦ GßÚÁõP C¸US®? 

20. Construct Fisher’s ideal index for the following data, Test 

whether it satisfies time reversal test and factor reversal 

test. 

Commodity  Base Year  Current Year  

 Quantity  Price Quantity Price

A 12 10 15 12 

B 15 7 20 5 

C 5 5 8 9 
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 ¤ßÁ¸® ÂÁμ[PÐUS ¤\›ß ÂÊª¯ SÔ±möhs 
Aø©UP Ax Põ»©õØÖ ©ØÖ® Põμo©õØÖ ÷\õuøÚPøÍ 
{øÓÄ ö\´QÓuõ GÚU PõsP. 

ö£õ¸mPÒ  Ai¨£øh Bsk |h¨¦ Bsk

 AÍÄ  Âø»  AÍÄ Âø» 

A 12 10 15 12 

B 15 7 20 5 

C 5 5 8 9 

—————  
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define ‘‘Human Resource Management’’. 

 ©ÛuÁÍ ÷©»õsø©°ß C»UPn® ÁøμP. 

2. Specify the objectives of Human Resource Management. 

 ©ÛuÁÍ ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

3. State the factors that affect Human Resource Planning. 

 ©ÛuÁÍ vmhªku¼À £õvUS® PõμoPÒ SÔ¨¤kP. 

4. List out the objectives of Human Resource Planning. 

 ©ÛuÁÍ vmhªku¼ß ÷|õUP[PøÍ £mi¯¼kP. 

5. What are the various sources of Recruitment? 

 ÷\ºzu¼ß £À÷ÁÖ ‰»[PÒ ¯õøÁ? 

6. What is E-recruiting? 

 ªßÚq ÷\ºzuÀ Gß£x ¯õx? 

Sub. Code 
7BCS4C4 
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7. Define Training. 

 £°Ø]¯Îzu¼ß C»UPn® ÁøμP. 

8. What is apprenticeship training? 

 öuõÈØ£°Ø] Gß£x ¯õx? 

9. What do you mean by time wage system? 

 ÷|μ ÃuU T¼ •øÓ GßÓõÀ GßÚ? 

10. What are the factors that affect wage levels? 

 T¼ {ø»ø¯ £õvUS® PõμoPÒ ¯õøÁ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What are the qualities of a Human Resource 
Manager? 

   ©Ûu ÷©»õÍ›ß uSvPÒ ¯õøÁ? 

Or 

 (b) Explain objectives of Human Resource 
Management. 

   ©Ûu ÁÍ ÷©»õsø©°ß ÷|õUP[PÒ ¯õøÁ? 

12. (a) What are the benefits of Human Resource 
Planning? 

   ©Ûu ÁÍz vmhªku¼ß £¯ßPÒ ¯õøÁ? 

Or 

 (b) Describe briefly the procedure for job analysis.  

   £o B´Ä |øh•øÓø¯ _¸UP©õP ÂÁ›. 
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13. (a) What is recruitment? List out the various sources of 
recruitment. 

   ÷\ºzuÀ GßÓõÀ GßÚ? ÷\ºzu¼ß £À÷ÁÖ 
‰»[PøÍ²® Á›ø\¨£kzxP. 

Or 

 (b) Define selection. State the various stages in 
selection. 

   ÷uº¢öukzu¼ß C»UPn® ÁøμP. ÷uº¢öukzu¼ß 
£À÷ÁÖ Pmh[PøÍ SÔ¨¤kP. 

14. (a) What are the benefits of training? 
   £°Ø]°ß £¯ßPÒ ¯õøÁ? 

Or 

 (b) Describe the various types of training. 
   £À÷ÁÖ £°Ø] ÁøPPøÍ _¸UP©õP ÂÁ›. 

15. (a) What is Promotion? Explain its types briefly. 
   £uÂ E¯ºÄ GßÓõÀ GßÚ? Auß ÁøPPøÍ 

ÂÍUSP. 

Or 

 (b) What are the causes of Demotion? 
   £uÂ°ÓUPzvß Põμn[PøÍ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain briefly the various functions performed by a 
Human Resource Management. 
©ÛuÁÍ ÷©»õsø© JßÖ BØÖ® £À÷ÁÖ £oPøÍ²® 
_¸UP©õP ÂÍUSP. 

17. Describe the various steps involved in Human Resource 
Planning. 
©ÛuÁÍ vmhªku¼À Ah[Q²ÒÍ £À÷ÁÖ 
Pmh[PøÍ²® ÂÁ›. 
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18. What are the various sources of Recruitment? Explain 
them briefly. 

÷\ºzu¼ß £À÷ÁÖ ‰»[PÒ ¯õøÁ? AÁØøÓ _¸UP©õP 
ÂÍUSP. 

19. Describe various methods of Training. 

 £°Ø]°ß £À÷ÁÖ •øÓPøÍ²® ÂÁ›. 

20. Describe briefly the different forms of Incentives given to 
workers.  

{v \õμõu FUSÂ¨¦PÒ ¯õøÁ? AÁØøÓ ÂÁ›UPÄ®. 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is law? 

 \mh® GßÓõÀ GßÚ? 

2. What is quasi contract? 

 J¨£¢u ÷£õ¼ GßÓõÀ GßÚ? 

3. Define offer. 

 •øÚÄ & C»UPn® u¸P. 

4. What is coercion? 

 {º£¢u® GßÓõÀ GßÚ? 

5. What do you mean by break of contract? 

 J¨£¢u «ÖøP GßÓõÀ GßÚ? 

6. What is a contract of guarantee? 

 EzvμÁõu® J¨£¢u® GßÓõÀ GßÚ? 

Sub. Code 
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7. Who is a surety? 

 ¤øn¯® AÎ¨£Áº ¯õº? 

8. What do you mean by a sub agent? 

 xøn •PÁº £ØÔ }Âº AÔÁx ¯õx? 

9. What is a contract of sale? 

 ÂØ£øÚ J¨£¢u® GßÓõÀ GßÚ? 

10. What is a condition? 

 {£¢uøÚ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the essentials of a valid contract? 

   ö\À»uS J¨£¢uzvß CßÔ¯ø©¯õ A®\[PÒ 
¯õøÁ? 

Or 

 (b) What is free consent? When is free consent 
obtained? 

   y¯ Cø\Ä GßÓõÀ GßÚ? G¨ö£õÊx y¯ Cø\Ä 
ö£Ó¨£kQÓx? 

12. (a) What are the duties of agent? 

   •PÁ›ß Phø©PÒ ¯õøÁ? 

Or 

 (b) What are the sources of law? 

   \mh Buõμ[PÒ ¯õøÁ? 
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13. (a) Distinguish between condition and warranty. 

   {£¢uøÚ ©ØÖ® EzuμÁõuzøu ÷ÁÖ£kzxP. 

Or 

 (b) Explain the duties of the buyer. 

   Áõ[S£Á›ß Phø©PøÍ ÂÍUSP. 

14. (a) What are the various types of bailment? 

   J¨£øh¨¤ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Enumerate the bailee liabilities. 

   ö£Ö÷Áõ›ß ö£õÖ¨¦PøÍ Â›ÁõP GÊxP. 

15. (a) Distinguish between fraud and misrepresentation. 

   ÷©õ\i ©ØÖ® v›zxU PõmhÀ EÒÍ ÷ÁÖ£kzxP. 

Or 

 (b) What is a contract of indemnity? What are the 
salient features of a contract of indemnity? 

   CÇ¨¥k GßÓõÀ GßÚ? |èh {Áºzv J¨£¢uzvß 
]Ó¨¦ A®\[PÒ ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the legal rules as to acceptance. 

 J¨¦u¾UPõÚ \mhŸv¯õÚ ÂvPÒ £ØÔ ÂÍUSP. 

17. What are the remedies for breach of contract? 

 J¨£¢u «ÖøPUS {Áõμn[PÒ ¯õøÁ? 
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18. Define bailment. Discuss the duties and rights of a 
Bailee. 

ö£õ¸Ò J¨£øh¨¦ Áøμ¯Ö. ö£õ¸Ò J¨£øh¨¦ 
ö£ØÓÁ›ß E›ø©PÒ ©ØÖ® Phø©PÒ ¯õøÁ? 

19. What are the rights and duties of Pawnor? 

 AhS øÁzuÁ›ß E›ø©PÒ ©ØÖ® Phø©PÒ ¯õøÁ? 

20. Discuss the essential of valid ratification.  

 ¤ß÷ÚØ¦ ö\´u¼ß •UQ¯ ÷uøÁPøÍ ÂÁõv. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define – Company.  

 {ÖÁÚ® & ÁøμÂ»UPn® u¸P. 

2. What is call-in-arrear?  

 AøÇ¨¦{¾øÁ GßÓõÀ GßÚ? 

3. What is sweat Equity shares?  

 Â¯ºøÁ £[SPÒ GßÓõÀ GßÚ? 

4. What is over subscription?  

 ªøP J¨£® GßÓõÀ GßÚ? 

5. What is pro-rata Basis allotment?  

 ÂQu AÍÄ Ai¨£øh JxURk GßÓõÀ GßÚ? 

6. What is marked application?  

 SÔ¨¤h¨£mh Âsn¨£[PÒ GßÓõÀ GßÚ? 

7. What is purchased consideration?  

 öPõÒ•uÀ Âø» GßÓõÀ GßÚ? 

Sub. Code 
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8. What is Internal Reconstruction?  

 EÒ ¦Úμø©¨¦ GßÓõÀ GßÚ? 

9. What is Time Ratio?  

 Põ» ÂQu® GßÓõÀ GßÚ? 

10. What is Goodwill?  

 |Øö£¯º GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain types of preferential shares.  

   •ßÝ›ø© £[SPÎß ÁøPPøÍ ÂÍUSP. 

Or 

 (b) Govindha Ltd. offered 10,000 shares of Rs. 100 each 
to the public on the following terms:  
Rs. - 30 on application  
Rs. - 20 on allotment  
Rs. - 20 on First call 
Rs. - 30 on Final call 

The public applied for 9,000 shares which were 
allotted. All money due was received. Pass Journal 
entries.  

   ÷PõÂ¢uõ Áøμ¯Ö {Ö©® JßÖ ¹.100 Ãu® 10,000 
£[SPøÍ ö£õx ©UPÐUS RÌPõq® 
{£¢uøÚPÎÀ öÁÎ°mhx. 

   ¹. 30 & Âsn¨£zvß÷£õx 
   ¹. 20 & JxURmiß ÷£õx 
   ¹. 20 & •uÀ AøÇ¨¤ß ÷£õx 
   ¹. 30 & CÖv AøÇ¨¤ß ÷£õx 

   ö£õx©UPÎh® C¸¢x 9000 £[SPÐUS 
Âsn¨£® ö£Ó¨£mk JxURk ö\´¯¨£mhx. 
AøÚzx öuõøP²® ö£Ó¨£mhx. SÔ¨÷£k 
£vÄPøÍ u¸P. 
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12. (a) What is Bonus shares? Write down its Advantages.  

   öÁS©v £[SPÒ GßÓõÀ GßÚ? AuÝøh¯ 
|ßø©PøÍ GÊxP. 

Or 

 (b) Write the difference between shares and stocks. 

   £[SPÐUS®, öuõS¨¦ £[SPÐUS® EÒÍ 
÷ÁÖ£õkPøÍ GÊxP. 

13. (a) Robert Co Ltd. issued 20,000 shares of Rs. 10/- each 
payable Rs. 3 on application, Rs. 2 on allotment, 
Rs.2.50 on first call and the balance on final call.  

  All the shares were subscribed and allotted. Call 
were made in due course but the first call money on 
1000 shares and final call money on 1500 shares 
were not yet received. Pass journal entry.  

   μõ£ºm Áøμ¯Ö {Ö©®£[S JßÖ ¹.10 Ãu® 20,000 
£[SPøÍ ¤ßÁ¸©õÖ öÁÎ°mhx. ¹.3 
Âsn¨£zvß «x, ¹.2 JxURk «x, ¹.2.50 •uÀ 
AøÇ¨¤ß «x ©ØÖ® Gg]¯öuõøP CÖv 
AøÇ¨¤ß÷£õx. £[SPÒ AøÚzx® J¨£¨£mk 
JxURk ö\´¯¨£mhx. 1000 £[SPÒ «x •u»õÁx 
AøÇ¨¦z öuõøP²® 1500 £[SPÒ «x CÖv 
AøÇ¨¦ öuõøP²® ö£Ó¨£hÂÀø». SÔ¨÷£k 
£vÄPøÍ u¸P. 

Or 

 (b) M. Ltd., has part of its share capital as 5,000 
Redeemable preference shares of Rs. 100 each, 
when the shares became due for Redemption, the 
company decided that the whole amount will be 
redeemed out of a fresh issue of equal amount of 
equity shares of Rs. 10 each show the journal 
entries in the books of the company.  

   M Ltd., & Ýøh¯ ¹.100 ©v¨¤»õÚ 5000 ªØS 
•ßÝ›ø© £[SPøÍ v¸®£ö£Ó EÒÍx. {ÖÁÚ® 
ö©õzu £[SPøÍ²® «m£uØS ¦v¯ \õuõμn 
£[SPøÍ \©©õÚ Âø»US ¹.10 u»õ GÚ 
öÁÎ°kQÓx. SÔ¨÷£k £vÄPøÍ u¸P.  
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14. (a) Explain the treatment of profit (or) Loss prior to 
Incorporation.  

   {ÖÁÚ £vÂØS •¢øu¯ »õ£® AÀ»x |mhzøu 
GÆÁõÖ øP¯õÍ ÷Ásk®? 

Or 

 (b) From the following Data, Calculate profit prior to 
incorporation.  
Time Ratio = 1:2 
Sales Ratio = 1:3 
Gross profit = Rs. 1,70,500 
Administrative exp = Rs. 69,500 
Expenses Related to sales = Rs. 18,600 
Preliminary Expenses = Rs. 11,560 

   ¤ßÁ¸® ÂÁμ[PøÍ öPõsk {ÖÁÚ £vÂØS 
•¢øu¯ »õ£zøu PnUQkP. 
Põ» ÂQu® = 1:2 
ÂØ£øÚ ÂQu® = 1:3 
ö©õzu »õ£® = ¹.1,70,500 
{ºÁõP ö\»ÄPÒ = ¹.69,500 
ÂØ£øÚ ö\»ÄPÒ = ¹.18,600 
•ußø© ö\»ÄPÒ = ¹.11,560 

15. (a) What is Amalgamation? Explain the types.  

   {ÖÁÚ J¸[Qøn¨¦ GßÓõÀ GßÚ? Auß 
ÁøPPøÍ ÂÁ›UP. 

Or 

 (b) A firm earns Rs. 1,20,000 as its annual profits, the 
rate of normal profit being 10%. The assets of the 
firm amount to Rs, 14,4,000 and the liabilities  
Rs. 4,80,000. Find the value of Goodwill by 
capitalisation  method.  

   J¸ {ÖÁÚ® ¹.1,20,000 Bsk Á¸©õÚ® »õ£® 
ö£ÖQÓx. ö£õxÁõÚ »õ£ \uÃu® 10%. {ÖÁÚzvß 
ö\õzxPÒ ¹.14,40,000. ö£õÖ¨¦PÒ ¹.4,80,000. 
|Øö£¯øμ •u»õUP •øÓ°À Psk¤iUPÄ®. 



F–0225 

  

  5

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A Ltd. Invited applications or 10,000 equity shares of 
Rs.100 each of a premium of Rs. 10 per share. Payment 
was to be made as follows:  

 On application - Rs. 30; on allotment - Rs. 40 (including 
premium) on first call - Rs. 30; on final call - Rs. 20.  

Application totalled for 13,000 shares. Application for 
2000 shares were rejected and allotment of shares was 
made proportionately to the remaining application.  
The Directors made both calls and all money received 
except the final call on 300 shares which were forfeited 
after the required notices were served. Later 200 of the 
forfeited shares were Reissued as fully paid @ Rs. 85 per 
share.  

Journalise the transactions and prepare Balance sheet.   

 A Ltd. 10,000 £[SPÐUPõÚ ¹.100 Ãu®, ¹.10 & 
•øÚ©zvÀ AøÇ¨¦ ÂkUQÓx. Âsn¨£[PÒ 
¤ßÁ¸©õÖ ö£Ó¨£kQÓx. 

 Âsn¨£zvß «x ¹.30; JxURmiß «x ¹.40 
(•øÚ©® EÒÍhUQ¯x) •uÀ AøÇ¨¦ ¹.30; CÖv 
AøÇ¨¦ ¹.20. 

 13,000 £[SPÐUPõÚ Âsn¨£[PÒ ö£Ó¨£kQÓx. 
2000 £[SPÐUPõÚ Âsn¨£® {μõP›UP¨£kQÓx. 
©ØÖ® «u•ÒÍ Âsn¨£[PÒ ÂQu AÍÄ •øÓ°À 
öPõkUP¨£kQÓx. ÷©»õÍºPÒ AøÚzx 
AøÇ¨¦PøÍ²® Âkzx, öuõøPø¯ ö£ØÓÚº. BÚõÀ 
300 £[SPÐUPõÚ £[S J¸¨¤i¨¦ ö\´¯¨£mhx. 
¤ß¦ AvÀ 200 £[SPøÍ ©ÖöÁÎ±k ö\´x & ¹.85 
Ãu® ö£Ó¨£mhx. 

 ÷uøÁ¯õÚ SÔ¨÷£k £vÄPÒ ©ØÖ® C¸¨¦{ø» SÔ¨¦ 
u¸P. 
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17. A company has 10,000 9% Redeamable preferential 

shares of Rs. 100 each fully paid. The company decided to 

redeem the shares on 31. Dec. 2004 at a premium of 10%. 

The company makes the following issues;  

 (a) 6000 equity shares Rs. 100 each at a premium  

of 10%  

 (b) 4000 8% Debentures of Rs. 100 each  

 The issue was fully subscribed and allotments were made  

 The redemption was duly carried out. The company has 

sufficient profits. Give necessary entries.  

 J¸ {ÖÁÚ® ¹.100 Ãu® 10,000 •ßÝ›ø© £[SPøÍ 

9%CÀ ö£ØÓx. {ÖÁÚ® 31 i\®£º 2004 AßÖ Aøu 

«mP •iÄö\´ux. AxÄ® 10% •øÚ©zvÀ, {ÖÁÚ® 

¤ßÁ¸® öÁÎ±kPøÍ ö\´ux. 

 (A) ¹.100 & 6,000 \õuõμn £[SPøÍ 10% •øÚ©zv¾®  

 (B) ¹.100 Ãu® 400 PhÜmk £zvμ[PøÍ & 8% 

 Âsn¨£[PÒ •Êø©¯õP ö£Ó¨£mk, JxUP¨£mhx. 

{ÖÁÚ® ÷£õx©õÚ C»õ£zøu öPõskÒÍx. 

÷uøÁ¯õÚ SÔ¨÷£k £vÄPøÍ u¸P. 

18. From the following particulars, ascertain profit prior to 

and after incorporation.  

(a) Time Ratio – 3 : 5 

 (b) Sales ratio – 4 : 6  

 (c) Gross profit –  Rs. 10,00,000 
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 (d) Expenses debited to profit and loss a/c were:  
 Rs. 

Salaries 96,000 
General exp 12,000 
Discount on sales 40,000 
Advertisement 50,000 
Preliminary exp  70,000 
Rent and Rates  15,000 
Printing and stationary  65,000 

 (e) Incomes credited to profit and Loss account were:  
 Rs.  

Rent received  18,000 
Interest Received 50,000 

 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk {ÖÁÚ £vÄUS •¢øu¯ 
©ØÖ® ¤¢øu¯ C»õ£zøu PnUQkP. 

 (A) Põ» ÂQu® & 3 : 5 

 (B) ÂØ£øÚ ÂQu® & 4 : 6 

 (C) ö©õzu »õ£® & ¹.10,00,000 

 (D) ö\»ÄPÒ & C»õ£|mh PnUQß £ØÖ ÂÁμ® : 

    

 ¹. 

\®£Í® 96,000
ö£õx ö\»ÄPÒ 12,000
ÂØ£øÚ «x uÒÐ£i 40,000
ÂÍ®£μ® 50,000
•ußø© ö\»Ä 70,000
ÁõhøP ©ØÖ® Á› 15,000
£vÄ ö\»Ä 65,000

 (E) C»õ£® / Á¸©õÚ® ÁμÄ £UP® EÒÍx : 
 ¹. 

ÁõhøP ö£ØÓx 18,000
Ámi ö£ØÓx 50,000
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19. ‘A’ Ltd absorbs ‘B’ Ltd by payment of 5 shares of Rs. 10 

each at a premium of 10% for every 4 shares held in  

‘B’ Ltd. The balance sheet of  ‘B’ Ltd as on the Date of 

adsorption is Given below 

Liabilities Rs. Assets Rs.  

Share capital (Rs. 10)  1,00,000 Fixed Assets  90,000 

General Reserve  10,000 Current Assets 30,000 

Creditors  30,000 2000 shares in  

  A Ltd 20,000 

 1,40,000  1,40,000

 Show the important Ledger Account in the books of B Ltd 

and the acquisition entries in the books of A Ltd.  

 A Ltd, B Ltd.-ø¯ GkzxöPõÒQÓx. B Ltd À EÒÍ 

JÆöÁõ¸ 4 £[SPÐUS®, 5 £[SPÒ ¹.10 Ãu®, 10% 

•øÚ©zvÀ GkzxUöPõÒQÓx. B Ltd C¸¨¦{ø» SÔ¨¦ 

ÂÁμ®. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£[S •uÀ (¹.10) 1,00,000 {ø» ö\õzxPÒ 90,000 

ö£õx Põ¨¦ 10,000 |h¨¦ ö\õzxPÒ 30,000 

PhÜ¢÷uõº 30,000 2000& £[Qß  

  A Ltd 20,000 

 1,40,000  1,40,000

 ÷uøÁ¯õÚ ÷£÷μkPøÍ B Ltd ¦zPzv¾®, 

øP¯P¨£kzxuÀ £vøÁ A Ltd ¦zuPzv¾® u¯õ›UPÄ®. 
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20. The following are the summarized balance sheets of 

Amar Ltd. and Samar Ltd as on 31st March 1994. 

Liabilities Amar   Samar   Assets Amar  Samar. 

issued 

Share 

Capital : 

    Goodwill - 1,20,000

Shares of    Fixed Assets 6,00,000 2,40,000

Rs.10 each 8,00,000 6,00,000  Current 

Assets 

4,20,000 2,80,000

P & L a/c  1,40,000  –  P & L a/c – 8,40,000

Creditors 80,000  2,40,000    

      

 10,20,000  8,40,000   10,20,000 8,40,000

 

 Amar Ltd. agreed to takeover the business of Samar Ltd 

as on the date of balance sheets. After due negotiations, it 

was determined that the shares of Amar Ltd are worth 

Rs.12 each and the shares of Samar Ltd are worth Rs.5 

each. 

 You are required to make the necessary entries in the 

books of Amar Ltd and draw up its balance sheet 

immediately after the takeover. 
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A©º {ÖÁÚ® ©ØÖ® \©º {ÖÁÚzvß C¸¨¦{ø» 

SÔ¨¦ 31.3.1994&ß _¸UP® ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ A©º ¼m 

¹. 

 \©º ¼m 

¹. 

 ö\õzxPÒ A©º ¼m

¹. 

\©º¼m

¹. 

A[RP›UP¨£mh 

•uÀ 
    |Øö£¯º -– 1,20,000

£[SPøÍ 

öÁÎ°k 

  {ø» 

ö\õzxPÒ 

6,00,000 2,40,000

(10 ¹. u»õ) 8,00,000 6,00,000  |h¨¦ 

ö\õzxPÒ 

4,20,000 2,80,000

C»õ£ |mh 

PnUS 

1,40,000  –  C»õ£ |mh 

PnUS 

– 8,40,000

PhÜ¢÷uõº 80,000  2,40,000    

      

 10,20,000  8,40,000   10,20,000 8,40,000

 A©º Ltd, \©º Ltd&ø¯ GkzxöPõÒÍ J¨¦UöPõshx. 

÷£μzvØS ¤ÓS A©º {ÖÁÚzvß £[S ©v¨¦ ¹.12 

BPÄ®, \©º {ÖÁÚzvß £[S ©v¨¦ ¹.5 GÚÄ® 

wº©õÛUP¨£kQÓx. 

  ÷uøÁ¯õÚ £vÄPøÍ A©º {ÖÁÚ HkPÎÀ £vÄ ö\´P. 

C¸¨¦{ø» SÔ¨ø£ {ÖÁÚ® øP¯P¨£kzv¯Ähß 

u¯õ›UPÄ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define – Industrial Policy. 
 öuõÈÀxøÓ öPõÒøP & ÁøμÂ»UPn® u¸P.  

2. What is Schedule – A industries? 

 AmhÁøn & A öuõÈÀxøÓ GßÓõÀ GßÚ? 

3. What is Industrial Sickness? 
 öuõÈÀxøÓ Â¯õv GßÓõÀ GßÚ? 

4. What is Monopoly? 
 HP÷£õP® GßÓõÀ GßÚ? 

5. What is Restrictive Trade Practices? 
 Pmk¨£kzu¨£mh ÁºzuP |øh•øÓ GßÓõÀ GßÚ? 

6. What is Capital Account transactions? 
 ‰»uÚ PnUS £›ÁºzuøÚ GßÓõÀ GßÚ? 

7. Define Adjudicating authority. 
 wº¨£õ¯ Bøn¯õÍº & ÁøμÄ u¸P.  

Sub. Code 
7BCS5C3 
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8. What is consumer Redressal Forum? 
 ~Pº÷Áõº SøÓ wº¨¦ ©ßÓ® GßÓõÀ GßÚ? 

9. Write any three rights of consumer. 
 ~Pº÷Áõº&ß ‰ßÖ E›ø©PøÍ GÊxP.  

10. List out needs for foreign capital. 
 A¢{¯ ‰»uÚzvß •UQ¯zxÁ® GÊxP.  

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the objectives of Industrial Policy – 1956. 
   1956 öuõÈÀxøÓ öPõÒøP°ß ÷|õUP[PøÍ 

ÂÁ›UP.  

Or 

 (b) Explain the significance of New Industrial Policy – 
1991. 

   ¦v¯ öuõÈÀxøÓ öPõÒøP & 1991ß 
•UQ¯zxÁzøu ÂÍUSP.  

12. (a) Discuss the duties of Director General. 
   {ºÁõP C¯USÚ›ß £oPøÍ ÂÁ›UPÄ®.  

Or 

 (b) Explain the objectives of Competition Act 2002.  
   ÁoP ÷£õmi \mh® & 2002ß ÷|õUP[PøÍ 

ÂÁ›UP.  

13. (a) Explain the powers of RBI to issue directions to 
authorized person. 

   A[QP›UP¨£mh |£¸US AÎUP¨£k® 
ö|Ô•øÓ°À C¢v¯ ›\ºÆ Á[Q°ß AvPõμ Áμ®¦ 
£ØÔ ÂÍUSP.  

Or 
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 (b) Explain the provisions regarding Capital Account 
Transactions. 

   ‰»uÚ PnUS £›ÁºzuøÚ \õº¢u \mh 
Âv•øÓPøÍ ÂÍUSP. 

14. (a) Discuss the rights available to Consumers. 

   ~Pº÷Áõ›ß E›ø©PøÍ £ØÔ ÂÁ›UPÄ®.  

Or 

 (b) Discuss the provisions regarding Unfair Trade 
Practice. 

   {¯©ØÓ ÁºzuP |øh•øÓ \õº¢u \mhÂv•øÓPøÍ 
ÂÍUSP. 

15. (a) Explain the powers of Environmental Authority. 

   _ØÖ`ÇÀ Bøn¯›ß AvPõμ[PøÍ ÂÍUSP. 

Or 

 (b) Explain the powers of Environmental Protection Act 
– 1986. 

   _ØÖ`ÇÀ £õxPõ¨¦ \mh® 1986&ß ÷|õUP[PøÍ 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Critically examine the New Industrial Policy 1991. 

 ¦v¯ öuõÈÀxøÓ öPõÒøP & 1991ø¯ wμ B´Ä ö\´P.  

17. Discuss the functions of Development councils. 

 ÷©ß£õmk SÊÂß ö\¯À£õkPøÍ ÂÍUSP. 

18. Explain the various consumer protection councils. 

 ~Pº÷Áõº £õxPõ¨¦ ©ßÓ[PÎß £À÷ÁÖ ÁøP¯õÚ 
Aø©¨ø£ ÂÍUSP. 
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19. State the obligations of Exporter of Goods and Services 
under Foreign Exchange Management Act. 

A¢{¯ ö\»õÁo ÷©»õsø© \mhzvß£i \μUS ©ØÖ® 
÷\øÁPøÍ HØÖ©v¯õÍºPÎß \mh ö£õÖ¨¦PøÍ 
ÂÍUSP.  

20. Describe the various types of restrictive trade practices.  

 Pmk£kzu¨£mh ÁºzuP |øh•øÓPÎß £À÷ÁÖ 
ÁøPPøÍ ÂÍUSP. 

 

 

 
———————— 



  

F–0227   

B.Com.(CS) DEGREE EXAMINATION, NOVEMBER 2023 

Fifth Semester 

Corporate Secretaryship 

Elective — DIRECT TAXES 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all questions. 

1. What are the types of Income tax? 

 Á¸©õÚ Á›°ß ÁøPPÒ ¯õøÁ? 

2. Who is Assessee? 

 ©v¨¥mhõÍº ¯õº? 

3. Define ‘Salaries’ under the Income Tax Act. 

 Á¸©õÚ Á›a\mhzvß RÌ \®£Í® Áøμ¯ÖUPÄ®. 

4. What is “Profit in lieu of salary”? 

 \®£ÍzvØUS £v»õP C»õ£® GßÓõÀ GßÚ? 

5. Define the term ‘Profession’. 

 “öuõÈÀ” GßÓ ö\õÀø» Áøμ¯Ö. 

Sub. Code 
7BCSE1A 
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6. What is meant by Capital gain? 

 “‰»uÚ Buõ¯®” GßÓõÀ GßÚ? 

7. What is “Revocable transfer”? 

 “v¸®£¨ ö£ÓUTi¯ £›©õØÓ®” GßÓõÀ GßÚ? 

8. What is “Set-off of Losses”? 

 “CÇ¨¦UPÎß öuõS¨¦” GßÓõÀ GßÚ? 

9. State the rates of Income tax for individuals. 

 uÛ|£¸UPõÚ Á¸©õÚ Á› ÂQu[PøÍU TÓÄ®.  

10. Who is an Assessing officer? 

 ©v¨¥k A¾Á»º Gß£Áº ¯õº? 

 Section B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Mr. Subramani left India for the first time on 
20.5.2020. During the financial year 2022-23, he 
came to India on May 27 and stayed for a period of 
53 days in India. Determine his residential status 
for the previous year 2022-23 in India. 

  20.5.2020 AßÖ •uÀ •øÓ¯õP C¢v¯õøÁ Âmk 

öÁÎ÷¯Ô¯ v¸. _¨μ©o¯ß 2022-23 {v¯õsiÀ 

÷© 27 AßÖ C¢v¯õ Á¢x C¢v¯õÂÀ 53 |õmPÒ 

u[Q°¸¢uõº. C¢v¯õÂÀ •¢øu¯ Bsk  

2022-23UPõÚ AÁμx Si°¸¨¦ {ø»ø¯ 
wº©õÛUPÄ®. 

Or 
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 (b) Mr. X an Indian citizen, leaves India to Germany for 

a job on 8.10.2022. What will be his residential 

status for the A.Y. 2023-24 if he has never left India 

earlier? 

  v¸. GUì J¸ C¢v¯ Si©Pß 8.10.2022 

÷Áø»UPõP C¢v¯õøÁ Âmk öáº©Û ö\ÀQÓõº. 

2023-24 ©v¨¥mk BsiØPõÚ AÁμx Si°¸¨¦ 

{ø» GßÚÁõP C¸US®. AÁº CuØS •ß¦ 

C¢v¯õøÁ Âmk öÁÎ÷¯ÓÂÀø» GßÓõÀ? 

12. (a) How will you determine the value of rent free 

accommodation? 

  ÁõhøP CÀ»õu Âkv°ß ©v¨ø£ }[PÒ GÆÁõÖ 

wº©õÛ¨¥ºPÒ? 

Or 

 (b) Compute Net Annual Value for the PY 2022-23 from 

the following: 

      House 

  Date of completion  1.11.2001 

  Rent    2,500 p.m. 

  Municipal Value (Rs.) 24,000 p.a. 

  House tax (50% paid) 2,400 p.a. 

  Educational cess (fully paid) 600 p.a. 

  Sanitation tax  300 p.a. 

  House has remained vacant for 2 months. 
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  •¢øu¯ Bsk 2022&23UPõÚ {Pμ Á¸hõ¢vμ 

©v¨ø£ ¤ßÁ¸ÁÚÁØÔ¼¸¢x PnUQk : 

  2001.11.1 B® Bsk Pmih® £o •i¢ux 

ÁõhøP ¹.2,500 (©õu®) |Pμõm] ©v¨¦ ¹.24,000. 

Ãmk Á› ¹.2,400 (50% ö\¾zu¨£mhx) PÀÂ Á› 

(•ÊÁx® ö\¾zu¨£mhx) ¹.600. x¨¦μÄ Á› 

¹.300. Ãk Cμsk ©õu[PÍõP Põ¼¯õP EÒÍx. 

13. (a) State the incomes that are chargeable to tax under 

the head ‘Profit and gains of business or profession’. 

  “ÁoP® AÀ»x öuõÈ¼ß C»õ£® ©ØÖ® 

Buõ¯[PÒ” GßÓ uø»¨¤ß RÌ Á› ÂvUP¨£h 

÷Ási¯ Á¸©õÚ[PøÍU TÓÄ®. 

Or 

 (b) Compute Capital gain arising from sale of a 

residential house for the AY 2023-24 

       Rs. 

  Cost of acquisition (2004-05) 1,00,000 

  Sold on 31.12.2022   5,00,000 

  Cost of improvement (2011-12) 5,000 

  CII : 2004-05 : 113, 2011-12 : 184 ; 2022-23 : 331 

  2023-24 B® BskUPõÚ Si°¸¨¦ CÀ»zvß 

ÂØ£øÚ°¼¸¢x GÊ® PnUS. Buõ¯® 

øP¯P¨£kzuÀ ö\»Ä (2004&05) ¹.1,00,000 

31.12.2022 AßÖ ÂØP¨£mhx ¹.5,00,000 

÷©®£õmka ö\»Ä (2011&12) ¹.5,000 ].I.I. : 

2004&2005 : 113 ; 2011&12 : 184 ; 2022&23 : 331) 
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14. (a) State the significance of clubbing of incomes. 

  QÍ¨¤[ Á¸©õÚzvß •UQ¯zxÁzøu SÔ¨¤kP. 

Or 

 (b) Following are the particulars of income of  

Mr. Mohan for the previous year ended 31.3.2023 

       Rs. 

  Dividend  40,000 

  Loss from house property 64,000 

  Business income 1,00,000 

  Loss in speculation business 6,000 

  Short-term capital loss 20,000 

  Long-term capital gain 30,000 

  Income (or) Interest from bank deposit 20,000 

  Compute the gross total income of Mr. Mohan after 

setting off of the different losses against other 

incomes. 

  31.3.2023 Ehß •iÁøh¢u •¢øu¯ BskUPõÚ 

v¸. ÷©õPÛß Á¸©õÚ ÂÁμ[PÒ ¤ßÁ¸©õÖ : 

       ¹. 

  £[Põuõ¯® 40,000 

  Ãmk ö\õzvß |mh® 64,000 

  ÁoP Á¸©õÚ® 1,00,000 
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       ¹. 

  FP ÁoPzvß ‰»® |mh® 6,000 

  SÖQ¯ Põ» ‰»uÚ® ö£ØÓx 20,000 

  }sh Põ» ‰»uÚ® Buõ¯® 30,000 

  Á[Q øÁ¨¦ öuõøP°ß «uõÚ Ámi 20,000 

  v¸. ÷©õPÛß ö©õzu Á¸©õÚzøu ©ØÓ 

Á¸©õÚ[PÐUS GvμõÚ öÁÆ÷ÁÖ CÇ¨¦PøÍ 

Aø©zu ¤ÓS PnUQhÄ®. 

15. (a) How do you ascertain the tax liability of an 

individual assessee? 

  uÛ¨£mh ©v¨¥mhõÍ›ß Á›¨ö£õÖ¨ø£ }[PÒ 

GÆÁõÖ EÖv¨£kzxQÕºPÒ? 

Or 

 (b) Discuss the powers of Directors – General of Income 

Tax. 

  ö£õx Á¸©õÚ Á›°ß ‰»® “£o¯õÍºPÎß 

AvPõμ[PÒ £ØÔ P»¢xøμ¯õkuÀ” – ÂÍUSP. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between gross total income and total income. 

 •Ê ö©õzu Á¸©õÚzvØUS® ö©õzu Á¸©õÚzvØS 

÷ÁÖ£kzxP. 
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17. Mr. X has two houses. First house with Municipal value 

of Rs.75,000 is kept by him for his own residence and 

second whose municipal valuation of Rs.1,20,000 has 

been let out. Following are the expenses relating to these 

houses : 

 I-house II-house 

 Rs. Rs. 

Municipal tax paid 12,000 20,000

Land revenue 200 250

Interest on loan taken for reconstruction 64,000 4,200

Fire insurance premium 900 2,400

 Compute Mr.X’s Income from House property for the 

Assessment year 2023-24. 

 ªìhº GUì Cμsk ÃkPÒ EÒÍÚ. |Pμõm] ©v¨¦ 

¹.75,000 öPõsh •uÀ ÃkPÒ AÁμx ö\õ¢u 

CÀ»zvØS®, CμshõÁuõP ¹.1,20,000 |Pμõm] 

©v¨¥miØUS® AÁº øÁzv¸UQÓõº. C¢u ÂkPÒ 

öuõhº£õÚ ö\»ÄPÒ ¤ßÁ¸©õÖ : 

 •uÀ 

Ãk 

CμshõÁx 

Ãk 

 ¹. ¹. 

|Pμõm] Á› ö\¾zv¯x 12,000 20,000

{» Á¸Áõ´ 200 250

«ÒPmk©õÚzvØPõPU Phß Áõ[Q¯ Ámi 64,000 4,200

w Põ¨¥k ¤Ÿª¯® 900 2,400

 v¸. “GUì” ß Á¸©õÚ® 2023&24 ©v¨¥mk BskUPõÚ 

Ãmk ö\õzvøÚ PnUQkP. 
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18. From the following Profit and Loss account compute 
Business Income for the Assessment year 2023-24 

 Rs.  Rs. 

To Salary 6,500 By Gross profit 36,750

To Bad debts 1,700 By Commission 1,250

To Provision for  By Discount 500

bad debts 3,000 By Sundry receipts 200

To Advertisement 3,800 By Rent from Buildings 3,600

To Insurance (HP) 550 By Profit on sale of  

To General expenses 2,750 investments 3,000

To Depreciation 1,200  

To Interest on capital 2,000  

To Interest on bank loan 1,300  

To Net Profit 22,500  

 45,300  45,300

 Depreciation allowed Rs.1,000 only. 

 ¤ßÁ¸® C»õ£ |mhU PnUQ¼¸¢x 2023-24B® 
BsiØPõÚ ©v¨¥mk BsiØPõÚ ÁoP Á¸©õÚzøuU 
PnUQkP. 

C»õ£ |mhU P/S 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

\®£Í® 6,500 ö©õzu »õ£® 36,750

ÁõμõUPhß 1,700 Pªåß 1,250

ÁõμõUPhß ÁÇ[PÀ 3,000 uÒÐ£i 500

ÂÍ®£μ® 3,800 ¤Ó μ^xPÒ 200

Põ¨¥k (HP) 550 PmihzvÀ ¼¸¢x 
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ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ö£õx ö\»Ä 2,750 ÁõhøP 3,600

÷u´©õÚ® 1,200 •u½mk ÂØ£øÚ 

•uÀ «uõÚ Ámi 2,000 C»õ£® 3,000

Á[Q Phß «uõÚ Ámi 1,300  

{Pμ »õ£® 22,500  

 45,300  45,300

 ÷u´©õÚ® ¹.1,000 ©mk÷© AÝ©vUP¨£mhx. 

19. From the following information, compute the total income 

of Mr. Yule for the A.Y. 2023-24 

 (a) Salary at Rs.10,000 per month 

 (b) He contributes 14% of his salary to RPF fund to 

which employer contribute an equal amount 

 (c) Interest credited to the P.F. at 9.5% p.a. Rs.1,200 

 (d) LIC premium paid Rs.5,000 

 (e) He paid Rs.8,000 as donation to a charitable 

institution 

 (f) Other income Rs.20,000 including interest from 

bank Rs.4,000 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2023&24 B® ©v¨¥mk 

BsiØPõÚ v¸. “³¼ß” ö©õzu Á¸©õÚzøu PnUQkP. 

 (A) \®£Í® ¹.10,000 (©õu®) 

 (B) AÁº uÚx \®£ÍzvÀ 14% I.Bº.¤.GL¨ {vUS 

£[PÎUQÓõºPÒ, CuØUS AÁ¸øh¯ •u»õÎ 

\©©õÚ öuõøPø¯ £[PÎUQÓõº. 
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 (C) ¤.GL¨ «uõÚ Ámi 9.5% ¹.1,200US ÁμÄ 
øÁUP¨£mk EÒÍx 

 (D) GÀ.I.]. ¤Ÿª¯® ¹.5,000 ö\¾zv¯x 

 (E) AÁº J¸ öuõsk {ÖÁÚzvØUS ¹.8,000 
¤izu©õP ö\¾zvÚõº 

 (F) ©ØÓ Á¸©õÚ® ¹.20,000 Á[Q°¼¸¢x Ámi 
Em£h ¹.4,000. 

20. State any five powers of Commissioner and Deputy 
Commissioner of Income tax (appeals). 

 Á¸©õÚ Á› Bøn¯õÍº ©ØÖ® xøn Bøn¯º (÷©À 
•øÓ±miÀ) I¢x AvPõμ[PøÍU TÓÄ®. 

  

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2023 

Fifth Semester 

Corporate Secretaryship 

Elective – COST ACCOUNTING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is cost?  

 AhUP Âø» GßÓõÀ GßÚ? 

2. What is cost sheet?  

 ö\»Ä uõÒ GßÓõÀ GßÚ? 

3. What is stores - ledger?  

 “Pøh ÷£÷μk” GßÓõÀ GßÚ? 

4. Write the formula for EOQ. 

 “ö£õ¸Íõuõμ JÊ[P AÍÂß” `zvμzøu GÊxP. 

5. What are the methods of Time keeping?  

 “÷|μzøu Pøh¤iUS®” •øÓPÒ GßÚ? 

6. Explain the “Job Card”.  

 “÷Áø» Amøhø¯” ÂÍUPÄ®. 

Sub. Code 
7BCSE2A 
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7. What is “Fixed Overhead”?  

 “{ø»¯õÚ ÷©À{ø»” GßÓõÀ GßÚ? 

8. What is variable overhead?  

 “©õÖ® ÷©À{ø»” GßÓõÀ GßÚ? 

9. What is process costing?  

 “ö\¯À•øÓ ö\»Ä” GßÓõÀ GßÚ? 

10. What is Abnormal gain?  

 “A\õuõμn Buõ¯®” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the objectives of cost Accounting.  

  ö\»ÄU PnURmiß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Discuss the characteristics of a goods costing 
system.  

  J¸ ö£õ¸mPÒ ö\»Ä Aø©¨¤ß £s¦PÒ 
ÂÁõvUPÄ®. 

12. (a) Calculate Economic order quantity from the 
following information.  

  Consumption 400 to 600 units per week.  

  Purchase price of input unit Rs. 20 Annual Carrying 
Cost 6.5% 

  Order cost per order Rs. 100. 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x ö£õ¸Íõuõμ JÊ[S 
AÍøÁU PnUQkP. ~PºÄ ÁõμzvØS 400 •uÀ 
600 A»SPÒ. EÒÏmk A»S öPõÒ•uÀ Âø» 
¹.20 Á¸hõ¢vμ _©US® ö\»Ä 6.5% Bºhº ö\»Ä 
J¸ Bºh¸US ¹.100. 

Or 
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 (b) Machine ‘A’ requires 50 units per day. The cost of 
placing an order is Rs. 50. The cost of carrying one 
unit amount to Re. 0.02 per day. The Lead period is 
40 days. You required to compute EOQ.  

  C¯¢vμ® ‘A’ ÄUS J¸ |õøÍUS 50 ³Ûm 
÷uøÁ¨£kQÓx. Bºhº ö\´ÁuØPõÚ ö\»Ä ¹.50 
BS®. J¸ ³Ûm Gkzxa ö\À» J¸ |õøÍUS 
¹.0.02 ö\»ÁõS®. •ßÚo Põ»® 40 |õmPÒ 
BS®. }[PÒ ªß&J&U³øÁ PnUQh ÷Ásk®. 

13. (a) The output of the worker A is 60 unit in a 40 hours 
week. Guaranteed time rate is Rs. 5 per hour. 
Ordinary piece rate is Rs. 2 per unit. Show the 
earning of worker A under time rate and piece rate 
system.   

  öuõÈ»õÍº ‘A’ ß öÁÎ±k 40 ©o ÷|μ ÁõμzvÀ 
60 A»S BS®. EzuμÁõu® AÎUP¨£mh ÷|μ 
ÂQu® J¸ ©o ÷|μzvØS ¹.5 BS® \õuõμn 
xsk ÂQu® ³Ûm JßÖUS ¹.2 BS®. ÷|μ 
ÂQu® ©ØÖ® xsk ÂQu •øÓ°ß RÌ 

öuõÈ»õÍº ‘H’ \®£õv¨£øuU Põmk[PÒ. 

Or 

 (b) Calculate wages due to a worker from the following 
data:  

Normal hour is a week  44 

Actual hours worked 50 

Rate per hour – Normal Rs. 1.25 

Over time 200% of normal rate 

  ¤ßÁ¸® uμÄPÎ¼¸¢x J¸ öuõÈ»õÎ°ß 
Fv¯[PøÍU PnUQkP. \õuõμn ©o ÷|μ® J¸ 
Áõμ® 44 Esø©¯õÚ ©o ÷|μ® J¸ ©o 
÷|μzvØUS 50 ÂQu®&\õuõμn ¹.1.25&\õuõμn 
ÂQuzvÀ KÁº øh® 200%. 
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14. (a) What is Machine hour rate? How it is calculated? 

State it merits and demerits.  

  C¯¢vμ ©o ÂQu® GßÓõÀ GßÚ? Cx GÆÁõÖ 

PnUQh¨£kQÓx? Auß |ßø©, wø©PøÍ TÖ. 

Or 

 (b) You are supplied with the following information. 

Calculate overhead hourly rate in respect of 

production department A, B and ‘C’  

  The Primary overhead are:  

Production department  Rs. Service dept Rs. 

A 7810 X 4,000

B 12,543 Y 2600 

C 4,547   

  Expenses of service departments X and Y are 

apportioned as under:  

 A B C  X Y 

X 30% 40% 20% – 10%

Y 10% 20% 50% 20% – 

  Estimated working hours are : A – 1,000; B – 2,500; 

C – 1,400. 
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  E[PÐUS ¤ßÁ¸® uPÁÀPÒ ÁÇ[P¨£kQßÓÚ 
EØ£zvz xøÓ A, B ©ØÖ® C BQ¯ÁØÔß ©o ÷|μ 
ÂQuzøuU PnUQkP. 

  •ußø© ÷©À{ø» 

EØ£zvz xøÓ  ¹. ÷\øÁz xøÓ ¹. 

A 7810 X 4,000

B 12,543 Y 2600 

C 4,547   

  ÷\øÁz xøÓPÎß ö\»ÄPÒ X °ß RÌ : 

 A B C  X Y 

X 30% 40% 20% – 10%

Y 10% 20% 50% 20% – 

  ©v¨¤h¨£mh ÷Áø» ÷|μ® “A”=1000; “B”=2500; 
“C”=1400. 

15. (a) What are the limitations of Job costing? 

  “÷Áø» ö\»Âß Áμ®¦PÒ” GßÚ? 

Or 

 (b) Explain the features of process costing.  

  ö\¯À•øÓ ö\»Ä A®\[PøÍ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between cost Accounting and Management 
Accounting.  

 ö\»ÄU PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯À Cøh÷¯ 
÷ÁÖ£kzvU Põmk. 
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17. What do you understand by material control? What are 
its objects and Advantages?  

 ö£õ¸Ò Pmk¨£õk ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? Auß ö£õ¸ÒPÒ ©ØÖ® |ßø©PÒ GßÚ? 

18. What is Labour turnover? What are its cause? Indicate 
the steps which may reduce Labour turnover.  

 öuõÈ»õÍº Á¸Áõ´ GßÓõÀ GßÚ? Auß Põμn® 
GßÚ? öuõÈ»õÍº ¦μÒøÁ SøÓUPUTi¯ £i {ø»PøÍ 
SÔ¨¤kP. 

19. Bombay Industries has two production departments and 
three service departments. The total overheads of the 
departments are  

Production dept: Rs.  Service dept Rs.  

A 24,000 Time office 8,000 

B 16,000 Stores  10,000

  Maintenance 6,000 

 Details relating to the departments are :  

 Time 
office 

Stores  Maintenance A B 

No. of workers 7 20 10 40 30 

No. of Store 
requisition 

– – 6 24 20 

Machine hours – – – 2400 1600

 Prepare overhead distribution summary by step method. 
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 £®£õ´ öuõÈ»P® Cμsk EØ£zv xøÓPÐ®, ‰ßÖ 
÷\øÁz xøÓ²® EÒÍÚ. xøÓPÎß ö©õzu ÷©À{ø»PÒ 

EØ£zv xøÓ: ¹. ÷\øÁz xøÓ ¹. 

A 24,000 ÷|μ A¾Á»P® 8,000 

B 16,000 PøhPÒ 10,000

  £μõ©›¨¦ 6,000 

 xøÓPÎß Áõ›¯õP öuõhº£õÚ Â£μ[PÒ : 

 ÷|μ 
A¾Á»P® 

PøhPÒ £μõ©›¨¦ A B 

öuõÈ»õÍºPÎß 
GsoUøP 

7 20 10 40 30 

PøhPÎß 
÷Põ›UøP Gs 

– – 6 24 20 

C¯¢vμ ©o – – – 2400 1600

 ÷©À{ø» Â{÷¯õP _¸UP® £i•øÓ ‰»® u¯õ›UPÄ®. 

20. Mr. Aadarsh started work on contract for Rs. 5,00,000 on 
1-1-2009. The following information relating to the 
contract is available  

 Rs. 

Material issued 1,60,000 

Wages paid 1,01,200 

Wages outstanding on 31-3-2000 37,520 

New Machines purchased and sent to site 1,48,000 

Direct charges paid 7,500 

Direct charges outstanding on 31-03-2009 600 

Establishment charges apportioned to contract 6,400 
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 On 31-03-2009 material lying unused at sites were valued 
at Rs.21,620. Machine are to be depreciated at 20% p.a. 
value of work certified by 31-3-2009 was Rs.3,50,000 
while the cost of work done but not yet certified as on 
that date was Rs.18,000. Mr. Aadarsh had received a 
total sum of Rs.2,80,000 from the contractor till  
31-3-2009. Prepare contract account. 

 v¸. Buºè 1.1.2009 AßÖ ¹.5,00,000 UPõÚ J¨£¢u¨ 
£oPøÍz öuõh[QÚõº. J¨£¢u® öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÒ QøhUQßÓÚ 

 ¹. 

ÁÇ[P¨£mh ö£õ¸Ò 1,60,000

Fv¯® 1,01,200

31-3-2000 AßÖ {¾øÁ°À EÒÍx 37,520

¦v¯ C¯¢vμ[PÒ Áõ[P¨£mk uÍzvØUS 
AÝ¨£mhx 

1,48,000

÷|μiU Pmhn[PÒ ö\¾zv¯x 7,500

÷|μiU Pmhn[PÒ 31.3.2009 AßÖ {¾øÁ°À 
EÒÍx 

600

{ÖÁÚU Pmhn[PÒ 6,400

 31.3.2009 AßÖ, uÍ[PÎÀ £¯ß£kzu¨£hõu ö£õ¸Ò 
¹.21,620 ¯õP ©v¨¤h¨£mhx. C¯¢vμ® 20% ¤.H.ÂÀ 
©v¨¤ÓUP® ö\´¯¨£h EÒÍx. 31.3.2009 ‰»® 
\õßÓÎUP¨£mh £o°ß ©v¨¦ ¹.3,50,000, A÷u 
÷|μzvÀ A¢u ÷uv°À ö\´¯¨£mh BÚõÀ CßÝ® 
\õßÓÎUP¨£hõu £oa ö\»Ä ¹.18,000. v¸. Buºè 
31.3.2009 Áøμ J¨£¢uuõ›hª¸¢x ö©õzu® ¹.2,80,000 
ö£ØÓx. J¨£¢uU PnUøPz u¯õ›UPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION,  
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Financial Inclusion? 
 {v ÷\ºUøP GßÓõÀ }[PÒ TÖ® £u® GßÚ? 

2. Define the term ‘Lease’. 

 ‘SzuøP’ GßÓ ö\õÀø» Áøμ¯ÖUP. 

3. What are the tax implications of Hire Purchase? 
 ÁõhøP&öPõÒ•uÀ Á› uõUP[PÒ GßÚ? 

4. Distinguish between factoring and forfeiting. 
 Põμo ©ØÖ® CÇ¨¤ØS Cøh°À ÷ÁÖ£kzxP. 

5. Is credit rating mandatory? 
 Phß ©v¨¥k Pmhõ¯©õ? 

6. Define the terms stock broker and sub- broker. 
 £[S uμPº ©ØÖ® xønz uμPº GßÓ ö\õØPøÍ 

Áøμ¯ÖUP. 

7. What are advantages and disadvantages of credit rating? 
 Phß ©v¨¥miß |ßø©PÒ ©ØÖ® wø©PÒ GßÚ? 

8. Discuss the structure of Merchant Banking industry. 
 ÁoPº Á[Qz öuõÈ¼ß Pmhø©¨ø£¨ £ØÔ ÂÁõvUP. 
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9. Discuss the concept of International credit rating 
practices. 

\ºÁ÷u\ Phß ©v¨¥mk |øh•øÓPÎß P¸zøu 
ÂÁõvUP. 

10. Difference between hire purchase and leasing. 

 ÁõhøP Áõ[SuÀ ©ØÖ® SzuøPUS Cøh°À 
÷ÁÖ£kzxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the mechanism of factoring with the help of 
a diagram. 

   J¸ Áøμ£hzvß EuÂ²hß Põμo ö\´²® 
ö£õÔ•øÓø¯ ÂÍUSP. 

Or 

 (b) Describe briefly, the various debt instruments 
which are common in the financial markets. 

   {va \¢øuPÎÀ ö£õxÁõÚ £À÷ÁÖ Phß 
P¸ÂPøÍ _¸UP©õP ÂÁ›UP. 

12. (a) Mutual funds are an important segment of financial 
markets. How is this role performed? Also discuss 
the management of a mutual fund company. 

   £μì£μ {va \¢øuPÎß J¸ •UQ¯¨ £Sv¯õS®. 
{v£[S GÆÁõÖ ö\´¯¨£kQÓx? J¸ £μì£μ {v 
{ÖÁÚzvß ÷©»õsø© £ØÔ²® ÂÁõvUP. 

Or 

 (b) Why should a public issue be marketed? What are 
the issues involved in marketing a public issue?  

   J¸ ö£õx¨ öÁÎ°kuø» Hß \¢øu¨£kzu¨£h 
÷Ásk®? ö£õx¨ öÁÎ°kuø» 
\¢øu¨£kzxÁvÀ GßÚ ]UPÀPÒ EÒÍÚ? 
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13. (a) If you are a Merchant banker, what issues would 
you consider before accepting a public issue 
proposal of a company? Briefly discuss. 

   }[PÒ J¸ ÁoP Á[Q¯õÍμõP C¸¢uõÀ. J¸ 
{ÖÁÚzvß ö£õx öÁÎ±mk •ßö©õÈøÁ  
HØÖUöPõÒÁuØS •ß GßÚ ]UPÀPøÍU P¸zvÀ 
öPõÒÃºPÒ? _¸UP©õP ÂÁõvUP. 

Or 

 (b) Differentiate ‘Financial restructuring, and 
‘Organizational restructuring’? What factors in your 
view affect the decision of merger or takeover of a 
firm? 

   ‘{v ©Ö^μø©¨¦’ ©ØÖ® ‘{ÖÁÚ ©Ö^μø©¨¦’ 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. E[PÒ £õºøÁ°À J¸ 
Põμo Cøn¨¦ AÀ»x øP¯P¨£kzx® •iøÁ 
GßÚ PõμoPÒ £õvUQßÓÚ? 

14. (a) Distinguish between a ‘Merger’ and a ‘Takeover’. 
Explain the various steps involved in the process of 
a merger deal. 

   J¸ ‘CønÄ’ ©ØÖ® ‘øP¯P¨£kzuÀ’ BQ¯ÁØÖUS 
Cøh°À ÷ÁÖ£kzv¨ £õ¸[PÒ. Cøn¨¦ 
J¨£¢uzvß ö\¯À£õmiÀ EÒÍ £À÷ÁÖ £iPøÍ 
ÂÍUSP. 

Or 

 (b) Compare and contrast ‘Leasing’ and ‘Hire 
Purchasing’. Why do companies go for leasing of 
assets? Briefly explain. 

   ‘SzuøP’ ©ØÖ® ‘ÁõhøP öPõÒ•uÀ’ BQ¯ÁØøÓ 
J¨¤mk¨ £õ¸[PÒ. {ÖÁÚ[PÒ Hß ö\õzxUPøÍ 
SzuøPUS GkUQßÓÚ? _¸UP©õP ÂÍUSP. 

15. (a) Explain the different stages in which a venture 
capital firm finances the requirements of the 
companies which approach it for financing. 

   ªuUS® ‰»uÚ {ÖÁÚ® {v¯ÎUS® 
{ÖÁÚ[PÎß ÷uøÁPÐUS {v¯ÎUS® £À÷ÁÖ 
{ø»PøÍ ÂÍUSP. 

Or 
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 (b) ‘Stock exchanges in India have not served their 
purpose.’ Do you agree? Validate your argument. 

   ‘C¢v¯õÂÀ £[Sa \¢øuPÒ AÁØÔß ÷|õUPzøu 
{øÓ÷ÁØÓÂÀø»’. }[PÒ J¨¦UöPõÒQÕºPÍõ? 
E[PÒ Áõu[PøÍ ÂÁõvUP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the structure of Indian Financial System with 
the help of a suitable diagram. 
C¢v¯ {v Aø©¨¤ß Pmhø©¨ø£ ö£õ¸zu©õÚ 
Áøμ£hzvß EuÂ²hß ÂÍUSP. 

17. What are the characteristics of a hire-purchase 
transaction? In what way it differs from a lease? 
ÁõhøP&öPõÒ•uÀ £›ÁºzuøÚ°ß £s¦PÒ GßÚ? Cx 
SzuøP°¼¸¢x G¢u ÁøP°À ÷ÁÖ£kQÓx? 

18. Critically examine the functioning of merchant bankers 
in India. 
C¢v¯õÂÀ ÁoP Á[Q¯õÍºPÎß ö\¯À£õmøh 
Â©º\Ú Ÿv¯õP Bμõ´P. 

19. Describe the credit rating process adopted by a rating 
agency. Support your answer with the case of one of the 
recognised agencies in India 
J¸ ©v¨¥mk {ÖÁÚzuõÀ HØÖUöPõÒÍ¨£mh Phß 
©v¨¥mk ö\¯À•øÓø¯ ÂÁ›UP. 

20. Discuss briefly the role of two depositories in India. To 
what extent these two institutions have grown in India?  
C¢v¯õÂÀ Cμsk øÁ¨¦zöuõøPPÎß £[øP 
_¸UP©õP. ÂÁõvUP C¢u Cμsk {ÖÁÚ[PÐ® 
C¢v¯õÂÀ G¢u AÍÄUS ÁÍº¢xÒÍÚ. 

———————— 


